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Electric generator is a device which converts energy into energy.

a. Mechanical, Electrical b. Electrical, Electronics  c. Electrical, Chemical
d. Electrical, Mechanical e. Answer not known

WesTedliuBsl 6T SLBBENEL SIBBEOTS LOTHBEMID FTHETLOTGLD.

a. QuIhEHrid, Lles b. Wer, eiemam C. 106, SJFTUIGILD

d. e, SuibSybd e. alewL GaMuwealsvemev

Consider the following pairs:

A.Proton - E-

B. B-particle 1H1

C. Neutrons No mass but definite charge
D. Electrons No charge and no mass
Which of these are not correctly matched?

a.A and B b. A and C c.B,Cand D
d.A,B,Cand D e. Answer not known

LeTau(phD Benerrdenen U155,

A, yGymiLmest - E-

B. B-gumen - 1H!

C. Pl greseei - HedB BeLemev SLETTEL LOGTEDTL L D o 6wi(h

D. erevsL gesisei - T LD WoB@ID Hlens Ee0enev

AeaupBled e1gl Fflwmsll GUTHHSHaNe0m60?

a. A opmpib B b. A wimip C c. B, Commio D
d. A, B, Cuopmio D e. alewL GaMwaledensv

Name the Mughal ruler who was defeated by the British East India company at the Battle
of Buxar in 1764

a. Akbar b. Shah Jahan c. Sha Alam II

d. Aurangazeb e. Answer not known

1764 uganit Gumiled maGoow &SHpsalbaHul sbuaiumed CHTBHIQSHSILIL L. (LPHEVTUI  LDEIT6OTT 6T
Quwe»y GHBIUIBHS.

a. 9IHLT b. egTemammes C. @JGUILTD QT &LeVID

d. gemymisfi e. alewL Gafualsdensy

Arrange the following events in chronological order/event type:
1. Revolt at Danapur

2. Revolt at Meerut

3. Death of Rani Lakshmibai of Jhansi

4. Mangal Pande was hanged to death

a.2, 31,4 b.1,2,4,3 c.4,2,1,3
d.3,1,4,2 e. Answer not known

Leiteu(phld HeLDeysemen STevauflengliLg / Hiobe| euemSWIGILIY (DMIGMIDHHALD.
1. sremmyfled dleniégd

2. 1571960 HleniTad

3. ogmeitfluflest gmemil UL GHLOLITUI LDy 6uTLD

4. BIGET UTenICL HTebaleIL L L g

a.2, 3,1, 4 b. 1, 2, 4, 3 c. 4, 2,1, 3
d. 3,1, 4, 2 e. alewL OFfwalsdensv

Electromagnetic waves have which of the following polarizations?
a. Longitudinal b. Transverse

c. Both longitudinal and transverse d. No polarization
e. Answer not known
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WOSIBTHSD DIEN6VH6MED 61HMIT60 Honalleneneay SHTewIlILIBS emEHI?

a. OIBL L 6MeLLILIGUTL ] b. @uissamevll LWL
C. OBLLem6Y LOBHILD GBIHHEN6V  LIGHIL|SH6IT d. seralmene &svenev
e. alenL Oz flwalsomnso

Television signals are:

a. Frequency modulated

b. Amplitude modulated

c. Both frequency and amplitude modulated
d. Phase modulated

e. Answer not known

CBHTMEVHHT & MFMBHAI,

a. 9ISITOluemr LiewrGUBBLILLL &I

b. afFas uemIGUBBLILL LG

C. 9IHMO6uewt (10) eiFa UeTGUBBLILILL )

d. s L uesGuBBLILL L &

e. alomL GgMwalsdenso

Christianity was first brought to India by ____ an apostle of Christ in the first century A.D.
a. Saint Peter b. Saint John c. Saint Matthew

d. Saint Thomas e. Answer not known

&.U. (PpHeOTD HIBBITeNIgeL SHhHHeu WD @hHwuraler QCuwiseler FLgmer 6TGITLIGUT TGV
Osmewi(h euUILILL L G.

a. yellgy LI b. yels egre c. yais GuodHuy

d. yeflls smoerd e. allewL  OaMuwiealsvensv

Choose the correct statements about Dr. Muthulakshmi

L. She was personally praised by Gandhiji for her active propaganda against
untouchability

I1. She organised All India women conference at Pune in 1930

III.  She was the president of women India Association from 1933 - 1947

a. LIl b. I, III c. IL 11T

d. all the above e. Answer not known

Dr. wéaeol a8l upplw sflwner sBpismears Caiey GFuis

L. BT HWILTMDSEG 61HITe Haljors LFsFsmyn CFlissBHTE STMHIHWTe0 Heoll L

(WemBUTEd LImyTL L LU L.
II. 19308y spenged LiGanalled oiglev bW &aT WIBT enL gBuTh CFuIHTT.
II. @eu 1933 Waed 1947 suedy @HAHW GLERNIHET FRIBHHE HEWEVEUTTH EHHSHTIT.
a.L Il b. 1, III c. I III
d. CuBempPu smasaid e el Oafualsdemed

Soap and detergents help remove dirt from clothes it does so because of having two parts:
a. Hydrophilic, neutrophilic b. Both the Hydrophobic

c. Hydrophilic and Hydrophobic d. Neutrophilic, hydrophobic

e. Answer not known

eTelauemBUTeL BTy LBBID FeauTHEMID Hiewlseilsd o 6o DIHHME DBBBISBH Gosvild BFH
Ayemih LGHdenias Lfldasiubangl.

emaml Gym.".L9eds, muyl Crmiiedd

@yemihd emamL Gym.”.GurLis

emasl Gym.".916d0é wBpIb ewamt CrmGumiis

Byl Crmiedss, emaml CrmGumis

allewL  OFflwealedensv

canoe
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10. Whatis a syngas?

a.
b.
C.

d.

e.

It is a gas mixture of CO, Hz, COz and N2

It is a gas mixture of CHs, Oz and CO

It is a gas mixture of CHy, CO2, N2, H2 and Oz
It is a gas mixture of Hz and O2

Answer not known

CFwmens efleumu] 616360  6T63T60 7

a.
b.
C.

d.
e.

e CO, Ha, CO2 iommid No eydlui eumujselest  &e0eneuuim@Ib.
@mat CHy, O2 opmid CO  euduieumnflest eumu| &60emeulIT@LD

et CHy, CO»2, N2, Ho iopmid O eydluieuBiles aumuy &e0eneuuin@Ld
a1l Howopmid Oz eumuy sevemeuwim@Ld

alenL  Oxfwailsvensv

11.  Choose the correct statements about Dr. S. Dharmambal

L. She was born at Karunthattan Kudi near Thanjavur

II. She participated in the Anti Hindi agitation programme and went to jail
III.  She founded the Chennai Manavar Mandram

IV.  She started Elavu Varam

a. [ I IV b. 11, IV c. I IL III

d. All the above e. Answer not known

LI&LT girombure’ uBpslw sflwmer spBpismens Gxitey GFuis

L. BT HEHhIFTOUHHG DIHBVGTENT S(HHSL LTAIGIQUNeD LIBHSHTT

II. BeuT @b eIy Curm L G LMGsBHI Henp CFeIBTT

[II. Goerener LOTERTEUT LOSIBHMS HBIeTuIeT

IV. ®we anmrsHensd [BL ST

a. LI, IV b. 11, IV c. [ 1T, III
d. Bwer SimaTGHHID e. alenL QxfNwealevensv

12.  Choose the correct statements about Ambedkar

L.
II.
IT.

He was elected to the Bombay Legislative Assembly as a legislator in 1936
He was appointed to the Executive Council of Viceroy as a Labour member in 1942
He resigned from the cabinet in 1953, over differences on the Hindu Code Bill

a.L Il b. 1, III c. IL III

d. All the above e. Answer not known
SIDGuGHET uBBlw sflwrer gBoiIsmens Caiey OFuiIs

L. Beult 1936810 &LEmIg6D LILDLITUl FLLLOATBSHIHBE FLL_LDGYID o miienrse
CHMHOHBESLILIL L.

II. Beu 194260 emeuerOITUlelT HiTauTHHGpals0 CFTidleomenT o minfemrs HuIbldSILILLTT.

I1I. 1953@60 @b&HInS WEFTHTaled gBULL HHHAH CeoupmLTed SiwFFTemeuuied EHb
aflevdleur.

a.L Il b. 1, III c. I III

d. CuBsmpPw Saisad e el Gafuaisbemnso

13.  Fermentation is a process in which:

oo oe

5 | Page

Organic compound is slowly decomposed into simple substances in presence of O
Organic compound is slowly decomposed into simple substance in absence of Oz
Simple substances is polymerized into complex substances

All of the above

Answer not known
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14.

15.

16.

17.

18.

OBTHSHHE0 allener 6T6iTLIG .

af sevemel O2 (Waeieneouisd ereil GUTBL &6enTs GogleuTer Heatemoulsd FendHealenL $H6o
Mo sevenel GogleuTer Heatemwulsd O2 oieveuTsH Hemsouied FensHelemnL 6o

el ellenerenul FoHoeomerl alemanms UTedwem ey GEFuILILIBE 36T,

BGuBev o _sitem  HIMSHHILD

allewL  Oxflweaiedensv

oo o

The combination which can act as a buffer solution is

a. Sodium acetate, HCI b. Borax, Boric acid c. Nap HPO4, NaszPOqy
d. CH3COzNa e. Answer not known

LeTeu(heueaTeuBmIe SHTHIG6D HMJFeOTH OFWeOLL Snlgul CaFIobensd 6157

a. Gemouub 6L, HCl b. Gumyraerd, (Qeuemismyb) Gurfds ofevd

c. Nax HPO4, Na3POq4 d. CH3CO:Na

e. alemL Oz flwailsvenso

Choose the correct statements about Baghat Singh

L. He started a militant youth organisation called the Naujawan Bharat Sabha in 1926
II. He joined the editorial board of Kirti

III. ~ Baghat Singh and B.K. Dutt throw a bomb in the central legislative assembly on 8,

April 1929

a. [ 1l b. I, I c. I, 11

d. All the above e. Answer not known

ussHdm uppslw gflwrer FpBpismend BiTey GFUIS

L. 19260 Suewi(h  [BeUMGUTET  LMISH FUT 6B HalJouTd  SenemehT — SlenLoLInLIS
CaTBBIelSSTT

II. &1HF e Bsler M GHrpaled CaihbaiT.

I11. ussdAm  wpg BK. 55 @0wnt glgsd 8, 1929 oem wHHW  FLLLOGBESSH60
Ceoug@ewi®  aidler.

a. L II b. I, III c. I III

d. CuBampPu Smarsaid e el Osfuaisdemed

23 March is observed as

a. Martyr’s Day b. Shaheed Diwas c. Sarvodaya Day
d. All the above e. Answer not known

23 o SISIm SiaigfbaliLbeusl

a. Fuwndser Heord b. agrans Heuerd c. FBaurgwin gevid
d. @mal maTIHSHID e. alewL Gafuwealsvemev

Migration of cancerous cells from the site of origin to other part of the body forming
secondary tumours is called:

a. Diapedesis b. Metastasis c. Proliferation

d. None of the above e. Answer not known

UBnICHTUI QFevmer GBamemiu B HFHe0mHbaH 2 Lede BB UGHDBEHnHG OFSim SIewiLmb
Blemev S I9HEN6NT 2 _(HeUTHEH6US) T DIMLSHBLILBSBSHI.

a. Lwimiigdlerd b. Gt LmerdLmendled C. QUHSHHLOML FH6L

d. @mer ggIdevenev e. alewL GaMuwealsdemev

Black foot disease is caused by:

a. Excess of fluoride in water b. Deficiency of iodine in water

c. Excess of arsenic in water d. Excess of iodine in water

e. Answer not known
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19.

20.

21.

22.

&Tev&6Med &y BB yetell  Gumess  Gmprul  (s@Hiy  &Smed  CHTUI ) 6THeI  SHTTENIOTS
gBUBSBS. . ..

Hewrewifledo 2 6o SiFlsLiLguinert . .LCemTenT[H

Hewrewifleo SIBwimgest (sTMwd) Genpund

HewTenile0 2 6iTen SiFHsLILguiTet S ToFaNs

SHemrewifled 2 6o SIFHBLILIgUITeT DIGwimger (Smilwib)

alemL  Oxfwailsvensv

oo oe

Choose the correct statements

L. The indian National Army was first formed under Mohan Singh and Japanese Major
Iwaichi Fujiwara

II. Subhash earned the title Netaji in Germany by the Indian soldiers of the Azad Hind
Fauj

[II. ~ Subhash Chandra Boase did not participated in Civil Disobedience Movement

a. LIl b. L II c. IL III

d. all the above e. Answer not known

gilwmen gnBpIBmend CaiTs

L. @hFHw Cxpsw grgmend (ST (1pHeded GursEidn whpih MiuTalw Gt BmeusFd)
ydeurgm uaCwimfledr S 2 (HeuTshsluL L Gl

II. guTay OxTwelulled uaTd abibs Ll @bHw aljTsemed CraTed aaiB UL SHmsLl

QuBmTT
III. gutay shagGumed s Liopili] BusssHFHed LURGCHBHT60m6D
a. L II b. I, III c. I, 1II
d. Bmer SimeansHHID e. alowL Gafwealsdenso

Choose the correct statements about Subhash Chandra Bose

L. He joined the Indian National Congress in 1920

II. He became the Mayor of Calcutta in 1930

[I.  He founded the Azad Hind Radio in Berlin

a. [ II b. I, III c. II, 1T
d. All the above e. Answer not known

gurey FhaHGumed uBBw gilwrer @GPlysmensd By CFULIS

L. @eu 1920840 WG DbHW Cxdlw smmsgHled GaFiTbHHT

II. ®eu 1930860 HevdHHTale Cowigrs LSHNCUBBTT

. ee1sH adflibd eurQenmmelenwt GLiTedeflsd MHimiaTeomm.

a. [ II b. I, II c. II, 1T

d. @mal maTHHID e. alewL GaMuwelsdemev

Which one of the following is the richest of vitamin C?

a. Guava b. Pine apple c. Orange

d. Tomato e. Answer not known

SLbau(hHeuaTaUBBIeT el L Loler “F” oFHsD o 6o o awtey IOUT([HET 6157
a. Gsmuiwm b. sesem & C. OLJ6ha

d. sésmef e. alewL OaMuwaleenew

What is Carbon credit?

It is the difference between the carbon emission allowed and actually emitted carbon
It is the loan amount by IMF for reducing pollution

It is the loan given to poor people for buying modern stoves

It is the amount imposed for excess emission of carbon dioxide

Answer not known

oo o
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23.

24.

25.

SMTLIGT &L_60T 6I6TLIGI
a. SIWILHSHBLILIL L SBITTLIGHT o 101paBH&GLD, ®_auieniouied o _101pliib
STTUMIHGID Benl BGuiujeen GaumLim(.

b. wrsuT L & GHmpeGd CHrddled IMF — 960 eupBIslILBID &L 6t

C. gelp L&&H6T Halel SIBLLSM6NT CLDBISBETS eUPHISLILIGLD HL 63T

d. sriueT-enL -y Hemen(® SIFHBLOTSH GeuelGuimmLl UBUSBES R INNICIN)
CpTema

e. alwL G flwailsenso

Choose the correct statements about Jawaharlal Nehru

L. In 1912, he returned to India from England and started practiced as lawyer at the
Allahabad Highcourt

II. He attended the congress session in 1912 in Patna

II.  Nehru met Gandhi at Lucknow INC session in 1916

a. [ II b. [, III c. I, I

d. All the above e. Answer not known

malamTeored Chm upPw gflwner sppiIsenensd CxHiTe GCFuls

L. 191281b S60T(H BmigleoThHHe(HHSI bHwralBG s &bl SICVBTLITS
2 _WTHHIBBSHEH0 UPSSBIEhT LUIBFenuwld OCHTL RIS

II. ®euT 1912860 LT aMalled HMLOLMBB STHRISITEO LOTHTL 1960 H60bHHI OBTEILTT

I11. 1916860 60&Cemmaled HenL OLIBB SHTMISITErD LOTHTL QD STHAHMWEF FHIHHSMT

a. [ Il b. I, III c. II, 1T

d. GupsampPw Semarsaid e el OFfuialsvemey

Choose the correct statements about Maulana Abul Kalam Azad

L. His original name was Muhiyudin Ahmad

II. He objected to separate electorates for Muslims under the Minto Morley Reforms

III.  He was elected as the President of the All India Khilafat Committee

a. [ 1l b. [, III c. IT, 1T

d. All of these e. Answer not known

GemeoTenT SIL60HEVTD SLFTdH UBPSw Fflwmer gmppieenens Cxhie GFuis

L Baurgl SUBCLWIT (PalSeT SiaBg

II. Wem@Lm  1omTell FTHHHBHEHHE S (Per0eSbBEHDHESG BN HOHTGHH BN  UDBIGLILL L D
THTSHBITT

I11. OB @HHWw &leor.".udh s Ul HemeveuItad CaHThHOSHHHSILL LT

a. [ 11 b. [, III c. II, 1T

d. CuBampPu smasad e el Oafuaisdmed

Aspects of scientific attitude are

i. Critical observation ii. Intellectual honesty
iii. Impartial Thinking iv. Reflective Thinking
a.iand ii only b. iii and iv only
c. i, iii and iv only d. i, ii, iii and iv

e. Answer not known
Sflalwied eTlIUTeTenLoUle LIflewITOmIGSET  6l6TLIen6

1. &b 2 BBIGHTHH ii. 9fleunimhs GHTenLo

1ii. UTGUTLBB  FhHenet iv. Upgluedas FbsHement
a. i b ii L Bid b. iii @b iv wr Bib

C. i, iii LoBwIb 1V 1oL (HLd d. i, ii, iii woBpbd iv

e. alewL OFflwealsdenev
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26.

27.

28.

29.

30.

31.

9 | Page

The Indian Parliament adopted the Scientific policy resolution in the year

a. 1960 b. 1959 c. 1958 d. 1957 e. Answer not known

@bHW UTITEHLSIBHHO Dfialued OFHTeTend HToTED 6hSH MG gBBIS OBTeemiiLlLgI?
a. 1960 b. 1959 c. 1958 d. 1957 e. allewL  Ozfwalsveney

Choose the correct statements about Maulana Abulkalam Azad

L. In 1923, he became the youngest president of the Indian National Congress at the
age of 35

II. He served as the president of the Unity Conference held at Delhi

a. I only b. I only c. BothIand II

d. None of these e. Answer not known

QermevmenT SILIEOHEVTID FTH UBBIW Fllwmer gaBpismend CHiTd

L. @euT 35  awgded @hFHw  CxFw  smRSFHed  We  Bem  uwGH  HMELEUTTH
BxbOSHBHSLILIL L.

II. OL606uled HEWL OUBB Q@BMIENID LOTHTL Q6T HEN6VTTH ENHHSHTT.

a.l o' @ b. I " @G c. ] wppo II

d. gaidevensv e. alewL OxpMwaledenso

Which of the following book was written by Maulana Abul Kalam Azad?

a. India wins freedom b. Gubher-e-khatir c. Tazkirah
d. All the above e. Answer not known

LelTeu(HeuaTeuBmIeT 61h% LISHHHD GILOGTEOTEIT SDILELSHITD HLFTH 61(SHWSHI?

a. @pHwm aflererd . .0fLD b. @&8uT-8-sraT C. SHerdlym
d. GuBampPlu SiemerHHID e. alewL OxMwaledensv

Open mindedness is a trait of

a. Discovery b. Concept learning c. Scientific perception
d. Scientific attitude e. Answer not known

FHBHS LOIILITETENLD 66313  LI6uoTL] G LD.

a. seuipLgliL b. &amdbz BHBBED c. 9plaluled Leveitam

d. omfelwed weriuragiem €. el G fuwalsenew

How many pairs are correctly matched?

L. 2023 Global Investors Meet - Tamil Nadu

I1. Saksham Mission - related to child labour

III. ~ Tamil Nadu village Secretaries - Help to implement schemes in rural areas
IV.  Seerthirutha Siragugal - Prison department

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

ahHme Aevemiden FAwms CUTHSHBHUILL (HelTermet?

I 2023 2 6u& (PHESLLT6NTHET OMBTH - SOLDBTH

II. FTHad HLID - GbHmd CHTHeoTeniTasT CHTLTUTEISI
OI. slperd  &Sgmo  GeweorenissT - SHITOlLGHsened S LESMeT  HOL (PBLILIGSHS

2_50/05BE
IV.  diggdpss Fpsas - dAmpiHoens
a. @f Beneuwr b. &m Bemewnismei C. CLPGTTNl E)eH6NTH6IT
d. pisie Smenisel e. alewL GaMuwealsdemev

Choose the correct statements about Maulana Abul Kalam Azad

L. He was elected to Loksabha in 1952 and 1957

I1. His brithday, 11 November is celebrated as National Education Day
II.  In 1991 he was posthumously conferred the Bharat Ratna
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32.

33.

34.

35.

a. L1l b. [, III c. I III

d. All the above e. Answer not known
QemeuTeT SILIELHEVTID SHLFTSH LUBBIw Fllwmer Fapmisenensd CaoHiTey OFuls
L. 1952 oppid 1957 ol opemiBseiled wdbsenenausad CHThHoSHBHSILIL L.

II. ®eu LIppbomrenTer meubuim 11 i ChFlul sevaldlerd GamewiLmLLILBaamgl.
III. Bargs BpUIBGUIE 199181b LG UTISH THOM all(hdl eUPRISLILLL &

a. LIl b. I, III c. IL III

d. @mal SDISHHID e. alowL GaMuwealsvemev

is poverty of poverty
being hungry without food to eat
Lack of wealth to buy food items
To neglect hospitality
Being without food, clothing and shelter
. Answer not known
QUBIEHLOUI6IT QUBIENLD 6T CT&IBI H(HEUGTEHEUT FnmISIMBTT?
® _MILUGHBEG 2 _6wiey Ee060MO60 LFGWITQHLILIGI
2 aureylIOILMHLH6M6N AUTRIGMSBE CF6e0euD E606VTIO60 EB(HLILIGI
alppHeteny o LgFfldbsd HalTeug
2 o6y, 2 ML, 2 MBAILLD &60L6VM60 @ (HLILG
alemL  OFfuialevemnsv

oo o

® o0 o

The aim of the Kalaigarin Anaithu Grama Orunginaintha Velan Valarchi Thittam is
a. Increasing cultivable area b. Augmenting water resources

c. Increasing productivity d. All of these

e. Answer not known

HMELEHTET DIMETHH SIITD QHHIHmenihSH Govenment eueanT&Fd Hi L HH61 CHToHBLOTERIS
a. gn@uUy ugliemer SIHsMHHe0 b. BT USHTIEIBMET GILIHDHEHH60

C. 2 BusHgemwl OLHDHESH60 d. Bwer SimeansHaID

e. alewL O fluwailsvenso

Choose the correctly matched pairs?

L. Thiruvalluvar Award 2022 - M. Meenatchi Sundram

I1. Sahitya Akademi Award 2021 - Ambai

III.  Avvaiyar Award 2022 - Girija Kumar Babu

IV. 25t Pudhumaipithan Memorial Award - Stalin Rajangam

a. I, II, III b. I, III, IV clIL IV
d. All of these e. Answer not known

gflwmenr Sementenwld BHiTd

L. FHmpeusi@neum albgl 2022 — (1p. Weiml & SHHSHILD

II. gdHU DBTEBHO albm 2021 — SibevL

I1I. SelemaunT afl(hg 2022 — &iflegm @omT umy

IV. 250151 UsimllshsHer Henaia] al(hghl - 6L Teder @Tegmmisd

a. I, II, IIT b. I, III, IV c. I IV
d. @mal HmaTISHSHID e. alewL GaMuwealsdemev

The whose word is never vain,

The shall to the earth proclaim

a. might of men, secret word b. Renounced, denounced
c. both states, greatness d. strength, life

e. Answer not known
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36.

37.

38.

39.

40.

41.

11 | Page

ThHST CUHELD BV

SM1g al{BLD
Camgl L. &)L misemen HIFLILS
a. HlewmOLT, BT b. HIBHHIT, BBHHT
C. ®memip, GLIHEMLD d. o _ger, euyest

e. alenL Gafweailsdenso

In a mixture of 60 litres, the ratio of milk and water is 2 : 1. If this ratio is to be 1 : 2, then
what is the quantity of water to be further added?

a.201 b.301 c.501 d. 601 e. Answer not known

60 eILLT ®evemeuulled, LTEL LBEBILD SHewiewiflenr alFHD 2:1 b eldsd 12 U5 BHES
Gouemt(pOemed, FnpHeomd CFJoHs Gouewigul Hewrenifler Siemey WTEHI?

a.201 b. 301 c.501 d. 601 e. alowL Oxpflweaisoensv

If the consecutive English alphabets A to N are represented respectively by the integers
from 14 to 1 and alphabet 0 is represented by zero and the alphabets P to Z are represented
from -1 to —11 then find the sum of integers representing SUCCESS?
a.16 b.14 c.2 d.18 e. Answer not known

A wzev N suemguieorer Sumidlev 61(R&HHIGBH6T (WedBBW 14 (1PpFHe0 1 eueny GHBSSLILGHMBSI.
SEF  wHH O eeiug yBwshde @GBisslLGEBs Gooid P e Z  eusnyuleomer
SYRIF  IWSHBHIBHET -1 (pFHe0 -11  euewguievmen erewidenmed GMldbsiLlLTed SUCCESS er6iin
BBV UTTHMBUTGD 2 616N 61(1DSHBHIBBM6ND GHBIHGLD 6160IH6IT60T FnBHe0 BTN T

a.16 b.14 c.2 d. 18 e. aleowL Gafwealsdenso

Ram can do a work in 15 days. Rahim is 50% more efficient than Ram. The number of days,
Rahim alone will take to do the same piece of work is
a.7% b. 10 c.12 d.14 e. Answer not known

gmb  eidUeu] @ Goauewevenws 15 BT SeMed (IpipddMmTy. Jranfid el Jmb-ewuwl el 50%
SIFHBD FpelwL WieuT elefled, Famsid wWLGWL Helwnms SCxH GCeumevenu! 61HHM  [HIL H6IT60
Wiy ?

a.7% b.10 c. 12 d. 14 e. alowL Gafuialsdamen

The amount of rainfall in a particular season for 6 days are given as 17.8 cm, 19.2 cm, 16.3
cm, 12.5 cm, 12.8 cm and 11.4 cm. Find its average.

a.13 b.15 c. 17 d. 19 e. Answer not known

QM GUEUUILL umeusHHe0 6 BT Sefled GUUILD wepuleT SleneuTergd 17.8 QF.15, 19.2 0F.15,
16.3 Qg.15, 12.5 Q&.5, 12.8 Gg.15, 11.4 GF.15 eaelew. BbHS SHIalear FITsf STewIS

a.13 b.15 c. 17 d. 19 e. alowL Gzfuialsamen

The difference between the interest payable on a sum invested for three years at 20%
compound interest per annum compounded annually and 20% simple interest per annum
for the same period is ¥448. What is the value of the sum invested?

a.X3,750 b. X 4,000 c. X 3,500 d. % 3,000 e. Answer not known
WIBHOEBTHPMB eI lgdh  SEIHHLIUGD  (WwedBuled @B OHTansd 20% Sl B el
aldlHHH0 3 AUBLSIBHG WHH CFUISFHN HmLHPH Ll RSH0HTMEEGD S6H OFHTms
20% el el edssHe o8  sTSIBEG (WHSH  CeuisHed DL HB
SN HOBTMBHGD 2 66Nl alGHHWTFD h. 448 WPHeSH CFUIH OHTEHHEMUI HT60IH.

a.%X 3,750 b. X 4,000 c. X 3,500 d.X3,000 e alewL Gafwaisdenso
Which is the best among all virtues?

a. spotless mind b. charity for the poor c. being virtuous

d. possession of love e. Answer not known
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42.

43.

44.

45.

SIMAHSH Dpmibeievld FpbeHeH 6157

a. 2 6N HFHe0 GHMMID BeL6OTHI B)(H&HFH60 b. aupGuiniéb@ F&Hev
C. oBHCH1B HMBBed d. oL enio

e. alenL G flwealedenso

How many pairs are correctly matched?

L. Sela Tunnel - Arunachal Pradesh

II. Ramappa Temple - Telangana’s first UNESCO World Heritage Site
III. ~ T-Setu - Odisha’s Longest Bridge

IV.  Renukaji Dam Project - Himachal Pradesh

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

SLpdheeniLeuBmieT FMwTesl QUTBHHIW Eenewis6iT 61556m6nn !

L. Qe agmELIUTNS — SihHewimFgew LIF6sHad

II. gmolim Gasraled - GgHemisTamale (PpHeo W6ererBsT o evs umgbufuwl G b
I1I. T- Gsgl — q@ueagtaile W& HETDTET LITEVLD

IV. Cramsted simenHl LD - @orFFeoliizGsabd

a. @1 Beneuwt b. &m Smewnisei C. CLPGIEI B)6n6ulIHeT
d. preng Senenismer e. alenL Gafwealsvenso

Choose the correctly matched pairs?

L. February 21 - International Mother Language Day
II. January 24 - National Girl Child Day

III. ~ November 20 - World Toilet Day

IV.  December 24 - National Consumers Day

a. [ I III b. IL, 1IL, IV c. LI, IV

d. All the abvoe e. Answer not known

gllwnen Semenismen GxiTs

L. Mageudl 21 - &TeuBss sTUIGLTLY Hleord

II. mereufl 24 - Gxpdlw G GHWHMHHET Hleoild

I11. BULUT 20 - 2 6v& SPILUmB SHleD

IV.  wgbur 24 - Caflw mETCeutTde Heorld

a. [ I III b. II, III, IV c. LI, IV

d. 8mal SimaTHSHID e. alewL Gafuealsvemsv

Though every -------- part complete, the body's fitly framed;

What good, when soul of love devoid, lies halt and maimed
a. outward, within b. bone, love c. love friendship
d. love what else e. Answer not known

@UELETLD 6TEUGTOFUILLD WITSHenSD

SIS 6LaUTH(G,
a. Upsaipl, SissHpiy b, a6y, oy C. S, eI
d. oeBur, ereGum e. alewL Gafualsdenso

Which among the following Kural is an example of the following lines from Purananooru?
“This world exists because of men who, even if they were
To get the nectar of Indiran, will not drink it alone”
a. Who shares his meal with other, while all guilt he shuns,
His virtuous line unbroken though the ages runs
b. Who shares domestic life, by household virtues graced,
Shall, mid the Gods, in heaven who dwell, be placed
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46.

47.

c. The men of household virtue, firm in way of good, sustain
The other orders three that rule professed maintain

d. None of these

e. Answer not known

“9_GuTLMeVIDID &)6116)6VHLD

BbHIT OPSHD BemuleuSHTulenid

Bel0FHe1s HOWTT 2 6w ad Bev@y”

6168 LBHETOTBHI LUTLISE Geneniwmed 2 6o GB6T 6157

a. ufwehdll urhg et 2 L SHHTullet auTpHmas
aNOWIEhF60 6l6hEhHTETMILD &6

b. eauwSSHI6N GUTDAITHIG, GUTIDLICIGHT 6ITETR _DHMIULD
CaUISSHI6N emeudbdLl LIBHLD

C.  B6LAUMDEUTET GTEITLITENT EUI6066mL I CLPEUTEEGHLD
HELEVTMBNSIEHT [HI6IIB  FHlen 60T

d. @meu gsIdsvamev

e. almL G flwalsenso

Choose the correct statements

I. In November 2015, the National Rural Livelihoods Mission was renamed as
Deenadayal Antayodaya Yojana

II. In 2018, Rashtriya Gram Swaraj Abhiyan Scheme was launched to strengthen
Panchayati Raj Institutions and helping them to achieve Sustainable Development
Goals

III.  In 2015, Pradhan Mantri Ujjwala Yojana was launched to distribute 50 million LPG
connections to women of Below Poverty Line (BPL) families

a. LIl b. I, III c. IL III

d. All of these e. Answer not known

gilwmen snBuIBmend CaiTe

L. 2015 meubuifled Gapdlw &Symoliym  eumpaursTy SHLLD SHergdwmel HbHCwrswm Sl b
ot QW LOMBML GEFuwIwlILL L .

IL. 201881 Sewi(B, UEhIFTWSHSH JTL  HBICUTHIGBm6T  aIIILIBSHSD Sienel  [BleneOUITeT
AUTFS  BevHGHIBM6N DML 2 FHaUSBHTHD Jraglfwl &SFmo  eoeugmed  oLilwimest
FHLLLD CHTLRISLILULL G

III. 2015860 Ugsw wWHHMuleGT o smeureor L 50 wWevelwenr LPG  Senewililsenern
AUBImSCHT IYBEG& &S o 6Ten  GBHULuUnSeNe0 o 6fen  OuUeIEEHHE aIBHCWTHES
OHTLMmISLILIL LS.

a.L Il b. 1, III c. IL III

d. 8mal SimaTdHHIDd e. alewL Gafuwealsvemsv

Arrange the following schemes in Chronological order

I. National TB Elimination Programme

II. Pradhan Mantri Gramin Awas Yojana

III. ~ National Literacy Mission Programme

IV.  National Rural Health Mission

a. I IL III, IV b.IL, I, III, IV c. IIL IL I, IV
d 1L I 1V, 11 e. Answer not known

etteu(pld S L misenen  Hmeveufleng LB HHS

L. CapFlw eTeuIbL|hEBE GBI LI S LLD

II. Mysio whHM Srmbler oueimerd &L 1D

II. Gzdw ewsdHsnle) BusssHHI LD

IV. Gzdw eags ssrsmd SHLLLD

a. L I, III, IV b. 1L I, III, IV c. IIL I I, IV
d. I LIV, 1T e. alowL Oxflwaleveneo

13 | Page

PH: 044 - 24339436, 42867555, 9840226187




48.

49.

50.

Find out the opt Kural for the following
Not to adopt the mean expedient of saying "I have nothing," but to give, is the
characteristic of the mad of noble birth.
a. The suppliants' cry for aid yields scant delight,
Until you see his face with grateful gladness bright.
b. 'Mid devotees they're great who hunger's pangs sustain,
Who hunger's pangs relieve a higher merit gain.
c. Let man relieve the wasting hunger men endure;
For treasure gained thus finds he treasure-house secure.
d. I've nought'is ne'er the high-born man's reply;
He gives to those who raise themselves that cry.

e. Answer not known
Ueiteu(pd QUT(HEHSHEG OUTHSSHLTeT Gmenen BHiTey GFUIS
B60en60 6T HIWM] IBHSHHIMTHESG (PTG CaBTHHGHEIGHmID GULIBhHeuel D o awi{h
a. BTy BréHsll UGSHD SIbHIHeuT
B(LpSHI SHTEDID D66
b. euBmieunT euBBed UFBBeL DI DU
LOTBEIeUTT SLBBeVled L6t
C. oBBTT SIPuf HTHHe0 O .CHT(HeU6T
QuBBTer GUM(HeTeneuUll Ll
d. BeveiTereianIld 6T6leUD 2 _ENFUITENLD FH6D
&6V6T2_emLWITEI HewtGewr © 61
e. alomL GaMwalsbenso

Which among following Kurals is an example for Tirless effort?
a. 'Tis energy gives men o'er that they own a true control;
They nothing own who own not energy of soul.
b. The wealth of mind man owns a real worth imparts,
Material wealth man owns endures not, utterly departs.
c. Whate'er you ponder, let your aim be loftly still,
Fate cannot hinder always, thwart you as it will.
d. The men of lofty mind quail not in ruin's fateful hour,
The elephant retains his dignity mind arrows' deadly shower.
e. Answer not known
Leileubd @BLUTES6MNeD HeNITe 2aEHSHHMBE IBHHHIT.B 61517
a. 2 LW eILBeudl 2MEHID ). .HELEOTT
o emLwg 2 emLw@ym B
b. 2 qitenb 2 LMD 2 LD GLIT(HEHEML LD
Bleveurgl BRI allBLD
C. 2 6lEhel OHELEVTD © _UIT6Y6iTerned LOMBBS
FHeiellanib SHETNTeNLD [HiTHSI
d. Aevzels3 @eostT 2 e LemsHubLiin
Ul Guur Bermisl seflpl
e. alowL Gaflwealedenso

Which of the following Bank provides the Financial support for affordable green housing
for low income women borrowers in India?
a. World Bank b. Asian Development Bank c. AIIB

d. New Development Bank e. Answer not known

@hHwmaled GmBhHSH UHLOTERID OCEHTEmNIL. HL 6T AUTHIGLD OIS EDHEHE 66 alenevuled LIGENLD
aihoEpHETar HFH pFHTemel LU 6bHEH 6URIs UGS BEHI?

a. 2 605 GUmID) b. spflw eueniiszd eumisd c. AIIB

d. ydw euenisdl eumis e. alenL Gafwealsvemso
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51.  Match the following

Festivals States

A. Pulikali Festival 1. Sikkim

B. Bonalu Festival 2. Kerala

C. Lavender Festival 3. Telangana

D. Losoong Festival 4. Jammu and Kashmir
A B C D

a. 1 2 3 4

b. 2 3 4 1

C. 3 2 4 1

d 2 4 3 1

e. Answer not known

QUTHSHHIB

allpT S H6IT LD 60MRI 61T

A. yedssTed aflpr 1. flaab

B. GQurmenmmey eflipm 2. Gaiyerm

C. oomeuemiLiT ailpT 3. OHIBISTEIT

D. aor@m aflipr 4. oIdp BHTOGST
A B C D

a 1 2 3 4

b. 2 3 4 1

C. 3 2 4 1

d 2 4 3 1

e. alewL Oz flwealsenso

52.  “Veracity’ means
a. speaking truthful words
c. speaking boldly
e. Answer not known
UTUIENLD  6leTILI(HeUGI
a. o enienenu! BugigHed
c. emgflwiors Buagked
e. alewL Oxflwelsvenso

b. speaking words not harming others
d. speaking sweetly

b. grigaITes CamBaemens BGugigHed
d. 8aflewowins Guaged

53.  Find out the opt Kural for the following proverb
Aatravun katrar arivudaiyar agdhudaiyar

Natrisaiyun selladha nadillai

a. The man who store of learning gains,
In one, through seven worlds, bliss attains.
b. The learned make each land their own, in every city find a home;
Who, till they die; learn nought, along what weary ways they roam!.
c. Their joy is joy of all the world, they see; thus more
The learners learn to love their cherished lore.
d. Learning is excellence of wealth that none destroy;
To man nought else affords reality of joy.

e. Answer not known

SLBBeYHI SHBMBTT  DINSleYEHLWTT D). GHIeDLWITT

BIBBlenFUeh CFL60TSH [HTYE0MEV

oI LG LML e0Ish@ OUTHSHHLOTET GHBerT 6157
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54.

55.

56.

a. RHVDSHEN HTHIBBM H6Va R(HOUBES
6T(LPEMLOU|LD  GJLOML!  L|eDL Sl

b. wWTEHTEID BHTLMDTED LETFTIOT6L 6TETO\GTT(HEI6HT
FMbSHIMEIULR  &H6060TH GUTHI

c. gmblen Lpleud 2 6u&lel LBSHHewI{h
STWPBIIT SBBBIH ST

d. Gziged al1pFOFerauDd Heval CUIT(HAIBE
LDTL6U6V LOM6MM  Wlenel

e. alwL G flwailsenso

Choose the correctly matched pair

Defence Exercise Countries Participated

L. Vajra Prahar 2022 - India and USA

II. Pitch Black 2022 - South Africa and India

II.  Sampriti - X - India and Bangladesh

IV.  VARUNA 2022 - India and France

a. [ Il b. II1, IV c. [ IIL IV
d. All the above e. Answer not known

gflwnen Senewidemen GHiTd

Srmamieu’s Ll UmIGaBBm BTHSH6N

L. eugyy Ugsni 2022 - ShHWT BHID D6LTsT

II. L& Uenms 2022 - Cgeaamilfest WwBBID SHE
I, smdfg X - SBHHWT OBBID URISCHFLD

IV.  eumewm 2022 - @bFHwT oBmID LiFTesterd

a. [ Il b. 111, IV c. I IV
d. 8meu SimTHHID e. alewL Oafweaisdensv

How many pairs are correctly matched regarding Nobel Prize 2022?
Nobel Prize 2022 Field

L. Physics - Quantum information science

II. Chemistry - Development of click chemistry and Bioorthogonal
chemistry

III. ~ Medicine - Human Evolution and the genomes of extinct human
relatives

IV.  Economics - Research on Banks and Financial Crises

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

Gpmued uflan 2022 QHTLTUTET EeMeidaied 61HHmen Qenemigen Fiwms CUTHSHSUILL (BeiTernes?
Gpmued uflan 2022 SHlOs

[. umBiued - @OUTEILLD HB6UeL Sipialluied

I1. Gouglufuied - 2 Ul Quwdsalweded cPevHamMIS6T WHBEID LGWIT
THCHTHeL Coudluuied G

1. wmsHzieud - welgeier Lflewrmon wBBID DOHSHICUITeT D6 g6 et
LOTLIEDISH 6T CGHTL TLITETen6Y

IV. Qummenmgmyb - QURIFHET LBBID HFH CEHBHY ITUIF

a. QT Beweuwt b. &m Bmeuimeln C. (LPGTIHI B emewIH6IT

d. pisie Smenisel e. alewL GaMuwealsdemev

According to Valluvar an act is to be performed after considering

a. Money, means, time b. Means, Time, Hinderance

c. Means, Time, Profit d. Accomplishment, Hindrance, Profit
e. Answer not known
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R CFwmend OFHTLRIGIEUTH eTeuBenm  elewienilill LMTHH OFuIwl GCouewi(Bd 6160  6U6ITEHEUT

FnBISTT?
a. Qum@met, smal, SHTeOD b. &mal, &mevd, SewLUlBI
C. &@mal, &TeVlD, LIUIed d. wyey, BeLwiml, L6

e. alenL Oz flwalsomnso

57.  “A crow will conquer owl in broad daylight;
The king that foes would crush, needs fitting time to fight’
What is the main idea of this Thirukural?
a. Importance of time b. Victory of crow c. Owl’s failure
d. Victory of kings e. Answer not known
“UB60 GRUERID FnenBMUWSH HTHMB BH60” 6lRICLEID
CaubaTdE CeuemiBd GUTE™” —
BHGHBeT 2 _eWITHHID SHHHH WTH?
a. BTVHA (LPSHSWSHSHIAILD b. srdmasuier Geumms C. gmewaWlar Gxpmeval
d. Gaubsitsefer Geumns e. alenL  GaMuwalevemnev

58.  What does the word ‘Irupunal” mean in this Thirukkural?
“Irupunalum Vaaindha malaiyum Varupunalum
Vallaranum Naatirkku Uruppu”
(The constituents of a kingdom are the two waters well situated hills
and an undestructible fort.)
a. Aatru neer, Kinatru neer (River water, Well water)
b. Aatru neer, Kulathu neer (River water, Pond water)
c. Mazhai neer, Kinatru neer (Rain water, Well water)
d. Kadal neer, Mazhai neer (Sea water, Rain water)
e. Answer not known
“OmLeTIID aUTUIHS LDENEVUILD  GU(THLIGITEVILD
6UGLETEDILD (BT IOME 2 miiL|”
-Bhs FHheGBaeL, ‘SBHUED’ 6IILIG! Wg?
a. oubm B, Sewpu BT b. obm B, Geds B C. wepip (BT, SlemBiEt
d. sLed BT, wewip BT e. alewL GFHfwaisveneo

59.  Find the harbour
1. It is known as Colchi in Periplus
2. The harbour of the Paandiyaas
3. The trade that took place here, is mentioned in Maduraikkanchi
a. Thondi b. Musiri c. Korkai
d. Kaaveripoompattinam e. Answer not known
SIMBPBSHMSHE  HIBLIIGSHHE|LD.
Qufiyendled Gasmevad (colchi) etem swpriLBE MBS

1

2. umewnguiflelr glenm(LPSLD

3. gImyssTehdluled @miE HoLOUBB eauTeniald GNILLILLIUL Beiteng)

a. QFmewig b. wpdns c. OQ&rBensd
d. srelMiibur geb e. alewL O fwelsvensv

60.  Choose the correctly matched pairs?

Index (2022) India’s Rank
L. World Happiness Report - 136t Rank
I1. Global Hunger Index - 108th Rank
III.  Global Gender Gap Report - 135th Rank
IV.  Global Terrorism Index - 12th Rank
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61.

62.

63.

64.

a. [ II, III b. [, IIL, IV c. I III

d. All the above e. Answer not know

gflwnenr Benenidamen GHiTd

GBluibser (2022) @bsHwmaier Hyeuflens
[. 2 ovas wHDFAS GBIUiG - 1366ug)

II. 2 v U ald GUIB - 1086ug)

III. 2 v uTelenr Benl Geuelld GHuib - 1356ug

IV. 2 v galgeunss &nlui®p - 126ug)

a. [, II, III b. I, III, IV c. IL III

d. @mal maISHSHID e. alewL GaMuwielsdemsv

25th Chief Election Commissioner of India is

a. Sunil Arora b. Sushil Chandra c. Rajiv Gowba
d. Rajiv Kumar e. Answer not known

@hHwmaler 25615 HnevenD BHTHEL SLENEIWIT

a. aele0 oBymym b. saded ahdym c. @ymedleu GasemuT
d. greden (Lo e. alewL OxpMwaletenso

“Who said, “Veerudai Semmozhi Tamizhmozhi Ulagam

Veroondriya Naal Muthal Uyarmozhi”?

a. Devaneyappavanar b. Paavalureru Perunjchiththiranaar
c. Bharadhampaadiya Perundhevanaar d. Kumattoor Kannanaar

e. Answer not known

“eipiemL gL SUODETH 2 60D

Gouemadtnsiul  BT6lT  (LH6eL 2 WITGILDTLS™

oDl SN CLIHENLOMUI LIHBEFTHBHBILIGUT WITT?

a. GzxeuGmUWILILIT6UT 6T b. umeueoBrmi CLIHEhF S S eurit
C. umgsbumeul GLmBHGHeeITT d. GWwL BT SevwewTemITT

e. alewL Gz flwelebenso

Which of the following books are written by a Kanimethaviyar?

a. Thinaimaalai Noottraimbadhu b. Yelaathi c. Thirikadugam
d.aand c e. Answer not known

BDHBHEWIL 6l HT6L / BIeOHEHHEG SeiGuograilwnt sufflwgrs HapdmrT?
a. FHeOEIDTEN6V HITBEBLOLIG] b. geurd) c. HfisBabd
d. a wBpd ¢ e. alL s Mwealsvemev

Choose the correctly matched pairs

Books Authors

L. Rusty Skies and Golden Winds - Sannidhya Sharma
I1. Winning formula for success - Viswanathan Anand
III.  Listen to your Heart - Ruskin Bond

IV. Leaders Politician, Citizens - Rasheed Kidwai

a. ] Il b. III, IV c. [ I, IV

d. All the above e. Answer not known

gflwner Senewnidemen BHiTd

L& HBMIB6I oy Ffwirasel

L. Jerolg GrOMEHEV D6 BHTELL 63T e)l6vTL 61D - FelHwr girom

II. alleiTeliml . .LTT(LP6OT LITT &FbaFerd - allerOeUBTHT SLETHS
III. odlger (B WeuT QmmiTL - JerO&leT LITesTL

IV. eSLiTerd  QuImeViglulest, &I 1gFeiterd - 7odsl HHme

a. ] Il b. III, IV c. 1L IV

d. @me SimensHaHID e. alenL Gafwealsvemnso
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65.

66.

67.

68.

69.

On the occasion of 12th National voters Day 2021 the Election Commission gave the best

state Award to state chief electoral officer.

a. Tamil Nadu b. Uttarpradesh c. Andhrapradesh

d. New Delhi e. Answer not known

20210  Syewiged  126ugh  BHFHW  auTHSTeNT  HerHmBHWITL 19 LOTHI6VS  HEM6VMLDG,
Bxpitmper oIFsMEGHF FBbhs THev alhHmeard BCHTHe0 HLOOPET EUPRISUISI]

a. SIDHTH b. o 58558sa1b c. hATITCHaD

d. ys Hevel e. alewL GaMuwelsvemev

Chennai becomes the ___ Indian city with metro railway.

a. first b. fifth c. sixth

d. second e. Answer not known

OhFHw senalsd, CFearener HaTD, GLCrm @guisd BGFemeu GameIL BBJLOTGLD
a. (PHeVTeUH b. mbaTeug) C. SLBTIG

d. @yewiLmeugl e. alewL OaMNuwalsvenen

Consider the following

1. Kainnilai describes disciplines of Ainthinai

2. Kai also means discipline

a.1is correct and 2 is also correct b. 1 is wrong but 2 is correct
c. Both arguments are correct d. Both arguments are wrong
e. Answer not known

LelTeu(hHeueTauBens LIS

1. mpFHlement s LB mdbHened GUILULIGSBSH
2. WM& CINBT6L QPSSLD 6TeILICLIT(HETLIHLD

a. 1 gf, gamm 2 & b. 1 seuml, Fmmm 2 &
C. Byewi(h FaBmIGEHD &l d. BIewih sBBIBEDHD Heus)
e. alemL 0z flwailsdenen

Choose the wrong answer

L. Because of his sister Thilagaviyaar, Thirunaavukkarasar converted from Jainism to
Saivism.

II. Mahendravarman II was converted from Jainism to Saivism.

a.l alone b. II alone c.II

d. none of these e. Answer not known

SHaupTen gmBenpsd Caite

L. SHHBTOSHBTFT  HABH FHOEHMS  HeVSAIWTTTEL  FLOWISHHI(HHSH MmFal  FLOWSHBE
LompsleorTit

II. @yewiLmb wGshaTeuTIOMmeT FLoeHH N (HhH MFUSHBE LOTHBAIGITT

a. I @ b. II wl G c. LI

d. GuBseriL agafledenev e. alemL s fwealsvemsv

Pandit Deendayal Upadhyay National Welfare fund assisting to whom?

a. Outstanding Research Scholars b. Outstanding Writers

c. Outstanding Sports Persons d. Outstanding Farmers

e. Answer not known

uewngl. HerHwimer o urSHHwmw CHFw mev 2 HalHodHTemsd WN(hdbEG UPHISLILGHBHI?
a. dppal alenmIG SLITUIFSWLTETTHEHDHE) b. fpphg alenBIGD T1IPHHTNTHEHHE
C. fpbg alenmi@ld allewemum B aiJTHEndE) d. fppa alamgd aleugmuisendd
e. alenL Oz flwalsvenso
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70.

71.

72.

73.

74.

75.

The Statute of unity was inaugurated on

a. 28, October 2018 b. 29, October 2018, c. 30, October 2018
d. 31, October 2018 e. Answer not known

"QBuIMEETERT Flenev” HMESUILIL L [HT6l

a. 28 o&GLmuir 2018 b. 29, &&GLmuT 2018 c. 30, &&GLuT 2019
d. 31 &8GLmuT 2018 e. alowL GaMuwealsvemev

Choose the incorrect pair.

a. Nammaazhwar - Thiruvirutham
b. Periyaazhwar - Thiruppallandu
c. Kulasekaraazhwar - Perumal Thirumozhi

d. None of these

e. Answer not known
FHoupTer Bemenienw! CHTHOHHS.

a. [BLDLOTLDGUITT - EYCRINGE:)

b. Quflwmpeurr - H(HLILGL6OTENRT(H

C. GBgmy SLbeuTT - QupLoTeT  SH(HOLDTLH
d. gaifevenev

e. alemL oz fwalsvenev

Which literary work states that it is wrong to sell Poompuhar’s products for a higher price?
a. Pattinappalai b. Silappadhikaaram c. Manimegalai

d. Maduraikkanchi e. Answer not known

Yoysmy maIsHEH OUT(hL Semel  Fn(bhHeomel alenevdd alBuUS SHeupmer OFuled 6163l 6IHHT6V
FBISBH?

a. UL IQeuTILmeney b. deoriuglsmyid c. weniBGsmev
d. wgimyHHTehd) e. el GaMwalevemev

Identify the TICEL park

a. Rubber park b. Textile park c. Food park

d. Bio park e. Answer not known

TICEL - &1 ugg

a. @y st b. 2aefl ymisT C. 2_6WIa] LRBIGT

d. 2 uifl yhisr e. alewL Gafuwealsvemnsv

In which language the “National Pledge” was initiated?

a. Sanskrit b. English c. Telugu

d. Bengali e. Answer not known

Cxpdlw o mHOTE (WPHenpHelsd 6bhFH GomPuied o (Heurdbsliul L gl?
a. FLEVE(HBHLID b. eymigleoid C. OBVIBIG

d. QurisTel e. alewL Ozfwalsdensv

Narasimha Varman I court was adorned by

a. Paaravi b. Dandin c. Rudraachariyar
d. Perunthevanar e. Answer not known

(PSHEVTID BIFIDLOAITIONTET DieHEUEHU  DI6VMIBNSHH6T

a. uryed b. sewnges C. (mSyTFFTHwmy
d. QumbBGseueTy e. alemL Gz fwealsvemso
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76.

77.

78.

79.

80.

81.

A can do a piece of work in 7 days of 9 hours each and B can do it in 6 days of 7 hours each.

How long will they take to do it, working together 8% hours a day

a. 4 days b. 5 days c. 3 days
d. 4% days e. Answer not known

A, @m Gsusmevenws 9 wewil GHIb Gamewi 7 Geuemev HTL Hefaid, B 2185 Gousnsvenws 7 wewfl
Gryb Oemewi 6 Gouensd BHTLHGMID (PIYHBHIBLD. DieuTHeT EmHeumD CFhHEH @H HTM6THSE

8% wewil CoHIL Gauemev CFUIHT6L, DleUGaIMeVENUI (LPIQHDH 6161666 SHTEVLD GIHLILITISH6N?

a. 4 [BL el b. 5 B sei C. 3[BT el
d. 4 Y% mrser e. alewL Gafluialsvensv

The population of town increased 5% annually but is decreased by emigration annually to
the extent of 1%. The population increase percent in three years is
a. 20.50% b.16.76% c. 12.48%

d. 10.80% e. Answer not known

QH BIIHIT Il  OHTME IBHG 5 20 FHaldSsD o widpa  96m  Fwowb
GYOLWTFAUIemed 1 FHAFHD UIBESHS GOBHBH. CPGIBTNIHH6MNED LDHH6T  CFHTend
® W(BHL FHaHFHLOTEIH

a. 20.50% b.16.76% c. 12.48%

d. 10.80% e. alewL Ozflweaisoensv

What is the greatest possible volume of a vessel that can be used to measure exactly the
volume of milk in cans (in full capacity) of 80 litres, 100 litres and 120 litres?
a. 5 litres b. 10 litres c. 20 litres

d. 40 litres e. Answer not known

(WpeuZIoTs  HIFLLbUL Beiter 80 eJLL{, 100 eI L wBmid 120 ILLJ Gsmelteneney o eien
&606MIB61Me0 LITelenend Fflne SIeNHED gl UTSHHTSHH DHSULFH O\HT6lTenene 616iTeor?

a. 5 ULy b. 10 &L Li c. 20 ULy

d. 40 9Ly e. alewL Ozfluialsvensv

Find the rate of compound interest at which a principal becomes 1.44 times itself in 2 years.
a.12% b. 20% c.25%

d. 30% e. Answer not known

R SiFeTaIHl, L Beaully (Wewmpulled 2 SremiBHeied DimHLIGUTETH 1.44 LMIG BBSHI 6660,
Al aIHHMmHH HTEWIH.

a.12% b. 20% c.25%

d. 30% e. alewL Ozfuialesdensv

Find the LCM of 3(a - 1), 2(a-1)3, (a2-1)

a.3(@a+1)2@+1) b.3(a-1)2(a+1) c.6(a-1)(a+1)
d.6(a-1)2(@@+1) e. Answer not known

3(@@-1),2(a-1)% (a2-1)-e1 5@ QUTH LOLEIG ST6wIE.

a.3(@a+1)2(@+1) b.3(@a-1)2(@+1) c.6(a-1)(a+1)
d.6(@-1)2@+1) e. allenL Opflwalsvensd

The Tamil Brahmi stone carvings found in Maankulam belongs to

a. Paraanthaga Veeraraajan b. Karikaala Chozhan c. Narasimha Varman
d. Nedunchezhian e. Answer not known

LOTRIGE0SHHe0 e’ L SO Lgmd &6006ul(HaE6lT WIT(HenL Wi

a. ugmhsHas igmeges b. &flemed Ggmpest C. BIIbLDGTLO6HT
d. Opbhebesfwes e. alemL Gz fwealsvemso
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82.

83.

84.

85.

86.

C. N. Annadurai launched triangular fight in .

a. 1951 b. 1952 c. 1953 d. 1954 e. Answer not known
C.N. gemiemmgieny (wibwener BGUITTL L GHengd SHleudbdlul et .
a. 1951 b. 1952 c. 1953 d. 1954 e. alewL OxNwalsveney

Ganga Vriksharopan Abhiyan is a

a. National Mission for Clean Ganga  b. Mission for pollution free India

c. Water Resources Management plan  d. National Mission for North-East

e. Answer not known

amaT alflFFGrmuer SIIwmer g @(h

a. Calw smmad STUIML HLLLD b. wrgBm GhHwTemer 2 (HauTos@G HLLb

c. BT euem Gevmemiend L L LD d. eu Hse BpdHwuralasier Cxhfw HLib
e. alemL Oz flwailsoemnso

The Ujwal Discom Assurance Yojana is related to

a. Agricultural debt relief

b. subsidy to industrial establishments

c. Govt. of India to take over the debt of power distribution companies

d. State governments to take over the debt of power distribution companies
e. Answer not known

® EheUmed 196r0BMD Slerougeiierd Guimegentm eleilg BHCB OCHTL TLemL WIS
Gouenmemwt HL 6T Ho6ITEHLIG

C&TH60 [BM3IeUETRIBETHESTE  LOT6TUILD

et alelCums Bnleuamiseaie SLeDeT WHHW DJF GBBISOIBT6TENHH0
et alelCums Hpleuamhiseaien SLenen LOTHED DIF&HH6T BBISOHT6TEHH0
alenL  OFfwailsdensy

oo o

Creamy layer concept was first introduced in the case of
a. Lakshmikant Sukla Vs State of Uttar Pradesh

b. Indra Sawhney Vs Union of India

c. KK. Roy Vs State of Tripura

d. Jitender Kumar Vs State of Uttar Pradesh

e. Answer not known

“CFpend SIBHEHDT’ 6TID SHHHBHTOIHI (PHET (PHeJed DIBI(PSLILGSHSLILLL  6UDHSE
a. v &BMhHg adeor Vs o sArinilyGss opys

b. @pFHyrasrel Vs @bdur ulefluies

c. KK. gmui Vs @fiygr ops

d. 2958zpaT @t Vs o sAnnig8ss opa

e. alewL G flwailsenso

Consider the following statements regarding Rettamalai Srinivasan.

1. He advocated in Assembly for Adi-Dravidars to gain access to public well and
public places.

2. He established All India Depressed Classes Association in 1928.

3. He participated in First and Second Round Table Conference held in London.

a. 1, 2 are correct b. 1, 3 are correct c. 2, 3 are correct

d. All are correct e. Answer not known

BT L oen60 FarllouTFemenl QUTBIGHSE HDSHHWIL  FnBBISHM6T SLITLALD.

1. AFHHITOILTH6T OUTEH ELMS6T WLBBID OUTEH  Sevipidemen  LWLETUBSHBHISBHE
FLLLOOTBSHSH60 eUTHIL L.

2. 1928 60 SimaSFHHHL @BHBLILLCLAT gnl L enlolil] GgTLmigleon.

3. oVENTL 360 B QUMM  (WHe0 WLBBID @FewiLmeugdl el L Guweng IHETHH6MND  HevbHSH
O\ TeTLTT.
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87.

88.

89.

90.

91.

a.1,2 s b.1, 3 & c.2, 3 &
d. sasgind i e. alewL OQFfwalsdensv

Arrange in chronological order.

1. Salem Conference Act 2. Annamalai University

3. Andhra University 4. First Communal G.O

a.4-3-2-1 b.4-1-2-3 c.1-4-3-2
d.4-1-3-2 e. Answer not known

sTeveuflenFlILBHSIS.

1. Gzevld LOTHT(H 2. S|GUTENITLOEN6D LIGDEHENEVESHLDSHLD

3. UBSHIT L6LSHMEVSHHIDHLD 4. (1pSHL UGLILAUTSH IJFTEN6U0T

a.4-3-2-1 b.4-1-2-3 c.1-4-3-2
d4-1-3-2 e. alenL QxfNwelsvensv

The constitution of Jammu and Kashmir came into force on

a. 31 October 1951 b. 31 October 2019 c. 26 January 1956
d. 26 January 1957 e. Answer not known

WUDP-BTOROT SHFFWeVEMIOLIL| HEDL (PBHES 6UbHDH DLewI(H

a. 31 o&Bumur 1951 b. 31 &i&@Lmur 2019 c. 26 ggaeul 1956
d. 26 sgeweufl 1957 e. alewL OxpMwaledenso

Which district of India become first ever carbon neutral district?

a. Majuli b. Sharanapur c. Kanyakumari
d. Gaya e. Answer not known

@bFHwraler (LpgHed STU6T BBHIENEL T L LD 61gI7

a. 10gge6l b. agyme, C. saeflwm@Lof
d. swr e. alewL GaMwaledenso

Identify the places which lies in the rain shadow region of the western ghats

I. Mumbeai II. Mangalore III. Coimbatore
IV. Bengaluru V. Goa

a. I, I1I b. L III, V c Il IV, V
d. III, IV e. Answer not known

GuoBe OFHTLTEFS wemevulsr wemp wWemBe| LIPBHFHHL MBI Gl HSH DML WITEITLD
SHITCITD

I. penui II. omimbeerniT III. Gsmwibyggmt
IV. QumriserpT V. Gameur

a. II, III b.LIII, V c. I, IV, V

d. III, IV e. alewL Gapfualsdensy

Consider the following statements about Vallalar?

1. Vallalar was born on October 5, 1823 in Marudhur.

2. October 5, is observed as Thaniperum Karunainaal by Tamil Nadu Government.
a. 1 alone is correct b. 2 alone is correct c. Both are correct

d. Both are wrong e. Answer not known

aueTemeUTenLl LBNSILl SDSHHEWMIL FnBBIHM6T DLITUWIALD.

1. eueiteeuniT IBGLIUT 5, 1823 60 W(HSBMM60 LIBHSTIT.

2. BOPs SIFTeL HSCLIUT 5, HONUCUIHLD SHHemew! BTeNTES QBTERILTLLILL G UHBBSI.
a.1 wi@Gw &M b.2 w @b &M Cc. ®yewi(po &l

d. 8yewiG Heuml e. alewL OHfwaledenew
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92.

93.

94.

95.

Consider the following statements.
L. First Female Deputy Speaker in Madras was - Rukmini Lakshmipathy

II. First Female Legislator in Madras Legislative Counsil was Dr. Muthu Lakshmi
Reddy.

Which of the statements given above is/are incorrect?

a. Ionly b. I only c. BothTand II

d. neither I nor Il e. Answer not known

Heaiaupd snBupiseied SHeupmaidsl 6igl / eleneu?

L. WSHITFT (PFHeL GILIEHT HlewewT FUMHTUIST (HLoemwi 6oL &AL

II. gITerd gL L Goeveneuuiler (P Heo Ouewt FULOGB 2 mIferT LISLT (pHa el &l Oy

a.l w @G b. I @B C. ®yewiHD

d. @yemipLilsuensy e. alew OFflwaledenev

How many pairs are correctly matched?

Rivers Tributaries

. Yamuna - Betwa

II. Brahmaputra - Dibang

[I. Mahanadi - Sheonath

IV. Krishna - Penganga

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SpdbaemiLeupmier Ffwmsl QUTHHHW EenewiseT 6153H6em6n 7

e ST A B6NT

[ wgpenm - QI sur

II. ybwygsgrm - Sl

III. wanpg - ACwITBTSH

IV. amagemrmm - QueiTemIST

a. @f Benewr b. &8® Bmaviser C. CPGITHI BN eRTIHET
d. pisie Smensel e. alowL Gafuielsdemev

Find out the correct statement regarding Dheeran Chinnamalai.
L. He had friendship with Hyder Ali.

II. French army trained him.

III.  His soldiers were fought in support of Tippu Sulthan in Mysore war.
a.land II b. II and III c.land III

d. All the above e. Answer not known

syet Feiienoensol LB Lleieu(hd Snmmiseieo Fiflwmenng?

L. Beuhdb& a1 eduller BLL L HBHSHI

IL. NOrehs uL Baumdl uWiBdwelshsa

I1I. @1 Burfled HI SFeOBHTaNHE DHTUTH Reuflen aigTaer GuTLL eorT
a.l wpmip II b. II @b 111 c. | wmmpd III

d. simarsaib e. alewL OxfNwaledenew

Special feature of the third session of INC held at Madras.

Major part of expenditure collected from public.

Government incurred entire expenditure of the session.

Major part of expenditure incurred by government.

Entire expenditure incurred by the owner of Hindu newspaper M.
Vijayaragavachariyar

e. Answer not known

anoe
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9.

97.

98.

CFatenenuisd HeWLOLUIBMB CLHSIBTID STHISIFeO OTHTL 96T FBUIL] DIDFD wirg?

a. Ozevaler QUEHLGS QUTHIDSSTLLOHHSH 6UGeSSILIL L .

b. wrpT e (s CFevalmenud DCF GBBISOHTERIIL &I

Cc. Gevaler OUmBLGHUImer DICF GBMIHCBTERIL FI.

d. wmpTiyer (WwwEF OGFvalmenud @ba USHfEMmS BiFeuTdwimet  (p.eNSUITTSeUTEFFTFWIMT
JMBISO\BTEIIL .

e. allewL G flwalsvenso

Choose the correct statements

L. India has emerged as the world’s largest producer and consumer of sugar
IL. India is the world’s 2nd largest exporter of sugar
III.  South India has a tropical climate which is suitable for higher sucrose content giving

a higher yield per unit area as compared to north India
IV. In 2012, Rangarajan Committee was appointed to give recommendations on
regulation of the sugar industry.

a. I, IT only b. IIL, IV only c. L 1L, III only

d. All the above e. Answer not known

gflwnen gmBpIsemend CaHiTe OGFuls

L. o eudlelr  Waslbuflw  Fidsemy o Mushs  wBmid  HSTCuTT  BTLTS  @hawm
2 (HOUBSHHIGNTENG.

I1. @hAT  Fiesmy  gnmodHuls 2 edsd  @remiLmeug QUi gBBISLTeITed
S BB BGI.

III. Gseaeibhldwraled GEULILILEIIL 6V STeUHMeD HevalauBHTed Al BhIHWTeneld ST IQEID &(hH
DVG LUGHHEG DIHS EHGHMEVULD, DIHd &&HCITerd Sleeneuu|ld OFHTewNy(HeHHBSI.

IV. siésmrsd 0aTHBITmMSEM6T QURIGLGSBIUSBET LfbHINTHM6T ULPHIS JRISTTEI6H
S0 20128910 SLWHIH DIENLOSBLILILL .

a.L II ' @w b. IIL, IV 1oL G c. L IL III w’ (G

d. CuBempPu Saisad e alomL  Gsfuialsdemev

Three important rivers of the Indian subcontinent have their source near the Manasarovar
Lake in the Greater Himalayas. Which among the following are the rivers?

a. Indus, Jhelum, Sutlej

b. Sutlej, Yamuna and Brahmaputra

c. Brahmaputra, Indus and Sutlej

d. Sutlej, Jhelum and Yamuna

e. Answer not known

OhFHWwGH BMMSHHEWILHH  cpaiiml  (WphAHwioTer  oppiser  Gufiw  Guioemeouied o eiter
wreg@rmeu gfldE SimePled o (heundlamer. Lleeumd Sumiseied Dibepaim wreneu?

bz, Seod WLBBID FLGlevey

FL060g), wW(peT WBBID LTl SETT

WyboysSHgT, FbhgH LBBID &L Gevue)

F060g), 25600 LOBMILD WI(LPEDTT

alewL  OFflwaisdensv

o an o

Identify the correct statements about Vanchinathan

1. He was the son of Sengottai Ganapathy Iyer

2. He was working in Punalur’s Forest department of Travancore.
3. V.V.Slyer trained him to use Browning Pistol

a.1,2,3 b. 1,2 only c.2,3 only

d.1, 3 only e. Answer not known

aTehdBTHT GBHS FHWTRT FnBnIH6T 6Teneu?

1. QomBsT emL Hewilg squifle L6

2. FHmalsmhignflevenen Leremfled SOIFFmmISd ST 1ge0nHTale0 Lewllfibal eubST].

3. Baumdg Loyamelin sHEHIUTESwne sGousBg uuipd oelsseauT ea.Ceoug. sgu.
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99.

100.

101.

.1,2,3 b.1, 2 i @G c. 2,3 L (B
oL (BLD e. allewL.  Gzfluialsdenso

Which of the following statements about Chembakaraman is / are correct?
1. He belonged to Nanjil Nadu.

2. He founded a newspaper called ‘Pro India’

3. He was areliable ally of the German emperor Kaiser.

a.1,2 b.1,3 c.2,3

d. all of these e. Answer not known

Leteu(bld SnBmIsened CFemIUSITONT GBlSHEH Ffuimearemel eTene?

1. mrehdled BT emL & CaimbaHeuf.

2. ‘UGym @pHwn’ ety GUWIfled LSHH BB [HL S 6.

3. Omjwer siFugTer CaWiFfler HILISmEBHGI LTSHHTLOTET6U].
a.1,2 b.1,3 c.2,3

d. simearbaid e. aleowL  Oafwalsbensv

How many pairs are correctly matched?

L. Kolkata Port - Indias riverine Port

I1. Chennai Port - All Weather Port

II.  Vishakapatnam - Deepest Port of India

IV.  Tuticorin Port - Artificial deep sea harbour

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SLpdhaeniLeuBmieT FMwmsl QUTBHSHW Eenewiseil 61&3Hm6n !

L. BHUBHHT HIOBUPSD - AbHwmaler B SHIEVBLHSLD

II CFaiieneT HIMBPSBLD - DIWNTHSH HTEVHINED HIMB(LHSHLD

III.  elsmalulyend SHOBWSLD - SHAWLTNE LOSDLOOTET SHIeNB(LPSLD
IV. SMHRHBG SHOBPSD - WOSD TN CFLBMBSH HIMB(LHSHLD

a. @1 Benewr b. &m Semewnisei C. CLPGIEI B)6n6ulIH6IT
d. s Smensel e. alewL Oafualsvemev

Consider the following

Assertion(A); Tamil Nadu has a distinct importance in Rowlatt Satygraha started by

Gandhi.

Reason (R): The date for Rowlatt Satyagraha was decided in Tamil Nadu

a. Both (A) and (R) are true and (R)is the correct explanation of (A)

b. (A) is true but (R)is false

c. (A) is false but (R)is true

d. Both (A) and (R) are true but (R)is not the correct explanation of (A)

e. Answer not known

LelTeu(hHeueaTauBens LIS

BB (A):  &MHI EARIE:X:A GiyemeuL_ FHHWTHTH G 60
SODBT.HEGS HNF FIBLILI6wIG.

aryenid (R): Qenmevl. FhdunadysshiBsrear CHa) HODBTLI9e0SHTET o BISOFUILILILIL L Gleuor

a. (A wpmb (R) Gyewp &, Gweubd (R) eeiug (A) alBg gflwmer alendasld.

b. (A) #f, eyemed (R) sHeums

c. (A saum, gemmed (R) &

d. (A) wppid (R) SyewiGd Ffl, Gwend (R) eraug (A) alBg gflumer alearsbsd &ie060

e. allewL  Ggflualsvenso
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102.

103.

104.

Editor of the newspaper “Tamil Nadu’

a. P.S.Srinivasa Shastri b. Varadharajulu Naidu c. Thiru.Vi.Ka
d. Periyar e. Answer not known
‘BUOPBTH’ LHfbamasuler ol
a. U.eterd. Falleurs Fmerogly] b. aurgrmmen HTW® c. gm.al.es
d. Quflwmy e. alewL Gz fuwailsdensy
Match the following
Tribals State
A. Gujjars 1. Kerala
B. Katkari 2. Jammu and Kashmir
C. Uralis 3. Maharashtra
D. Kuki 4. Manipur
A B C D
a. 1 2 3 4
b. 2 3 1 4
C. 3 1 4 2
d. 4 2 1 3
e. Answer not known
QUTHSHHIB
LpmIGIu et LOMHIGVLD
A. @mxnsei 1. Gayenm
B. a5 2. Qb LOBMID STOROT
C. o _gmedsmei 3. LOQABTITONQIT
D. g&d 4. 1oeuoflliLT
A B C D
a. 1 2 3 4
b. 2 3 1 4
C. 3 1 4 2
d. 4 2 1 3
e. alewL G flualsvenso

How many pairs are correctly matched?

Towns Industries

L. Ankleshwar - Oil Refining

II. Aluva - Monazite factory

III.  Barauni - Petroleum industry

IV.  Bongaigaon - Steel factories

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SpdbasemiLeupmler FRwmsl QUTHHHW EenewiH6T 6153Hen6nn?

BB RISHENT CaTHBFTEN60H6IT

L. SItIFGevargeuT - oTemTOemTUl &g HMIIL

II. Sigvleur - Gureremal. OFHTHBFTEN60

III. UyeledT - QULGrTelws OFHTPBaFTEmeL

IV. GumienastGanesr - 6.'.& OCHTHBFTENeOSH6T

a. @f Beneuwr b. &m Bemewnismei C. CLPSIIBI B)eM6mTH6lT
d. preng Seneniser e. alewL OFfwalsdensv
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105.

106.

107.

108.

Which of the following statements about Salt Satyagraha in Tamil Nadu is / are correct?

1. Congress headquarters was shifted from madras to Thanjavur

2. Trichy became the centre for civil disobedience movement.

3. Salt Satyagraha was started on 13 April 1930, the day on which coincided with Jallian

Wala Bagh tragedy day.
a.1,2,3 b.1,2 c.1,3
d.2,3 e. Answer not known

LetTeu(heusteuBmieln  SHODHTL 960 Bl OuBB o NyFFSHundrsd uBpslu  Fflwrer  FnBmisel

eTemeu?

1. SRS HmeumWHSD OFaremaTuled(hhahl HehFTelHHE LOTBBUILLL .

2. FHmFF FlLwgly BuUss WDTESH HBWDbHHSHI.

3. gamelwedt  eumeomUTd  LBGOETEMeL HTEHD @aBTaF  Cajhsd 1930 guyed 138D  [HTeT6IHI
Slamslu’ L o U FHHuTHIsd mredweaieureorursds LUGOsTme  SHearipld @6y  FHarhams
PSIBHSS!-

a.1,2,3 b.1,2 c.1,3

d.2,3 e. alenL  GaMuwalevemev

During Quit India Movement in Tamilnadu, the statue of king George V was desecrated in,
a. Madurai b. Coimbatore c. George Town, Madras

d. Rajapalayam e. Answer not known

GeusiiemenuiGerr  GeuefCuBpI BusaHFGCUTH  SHODETLIQED  WBSHTD  WTJe)  weten]  Flemev
2 _MLGSIULL L LD.

a. LDGIen] b. GamwibusbsTy C. QFcienan oIy L eyes

d. gregumemenuid e. alewL  GaMwaisbensv

How many pairs are correctly matched based on 2011 census?

L. Kerala - Highest literary rate and sex ratio

II. Bihar - Lowest Literary rate and highest population density
III.  Haryana - Lowest sex ratio

IV.  Arunachal Pradesh - Highest Child sex ratio

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

2011 wWEHMOFHTMS HeTHOBBLILNLY — SpdsewiLauBpiel  Fflwms  CUTHBAHW  Senewimel
615560601 !

L. Gaiyemm - s 9Fs pHHBa] aisbd BB uTeder aldsd

II. LIt - 108 GoBhS WSSV aiHD

I11. afluwimeonm - e Gombhsy UTeda aldsd oBpid We DHs WwHSH6T DILTHIH
IV. somewnm&seollzGahab - e oHs GWhHmd Lmeder aldlsd

a. @f Bevewr b. &m Smenimel C. CPSTBI Bem6Teb6lT

d. presie; Qememimel e. alewL Gafuwealsvemnsv

How many pairs are correctly matched?

L. Gir National Park - Gujarat

I1. Gautam Buddha Sanctuary - Bihar and Jharkhand
III.  Jaldapara Sanctuary - West Bengal

IV.  Kaziranga National Park - Assam

a. One pair b. Two Pairs c. Three Pairs
d. Four pairs e. Answer not known

SIS auBmlen Ffluwmsll QUTHHIU EenewTH6TT  615H3Hm6 !

L. it CapAwiligmism - GHWYTH

II. OBEMBHID YSHDHT FFERITEOUILD - UsMT LoBEID eiTehaheul
III. MEOSHLITIT  FJ6EMTT6OUID - GBG euRISBLID

IV. asrdgmst Cadlw U misT - S6ro6NIMLD
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b. &m Bmewnismei
e. alewL Gaflualsdenso

a. QT Bememt
d. preng Senemismer

C. cpeiml E)emeuntssert

109.  Arrange the following gases in descending order based on their percentage in atmosphere?
I. Nitrogen II. Oxygen III. Carbon-di-oxide
IV. Argon V. Neon
a.LILIIL IV, V b. L IL IV, V, 1l cLILIV,IOLV
d.LIIIV,II, V e. Answer not known
eiTau(hld  eUTUHHEMET  DieDed  QUATILDGWIL 60HFH60 B IbOLBBIeTeN  FHalHHHT  DigliLienL uled
@priGaflengulsd auflensliubGsHais
I. ewpLyegen II. o5Hxe0m III. sniuet oL SHmFH
IV. syfrsmein V. mlumesr
a.LILIIL IV, V b.LIL IV, V, Il c.LILIV, 1LV
d. LI, IV, 11, V e. alenL  Ozfwaisbenso
110.  Identify the correctly matched pairs

Book - Author
i) Sarvodaya - Jawaharlal Nehru
ii) Hind Swaraj - Gandhi
iiiy ~ The Volcano - Veer Savarkar
a. i, ii, iii b. 1, ii c.1,1ii d. ii, iii e. Answer not known
Lelteu(meuaieuBmien sflwmer Senentenwld Caibos b

HIT60 S AR
i) FJ8sum gD MauamTeOTed GH(H
i)  Gbs swrngg SMh3J
iii) erflLoemew afy TN BT
a. i, ii, iii b. i, ii c. i, iii d. ii, iii e. allewL  Gflwalsoenso

111.  Choose incorrect statement regarding RIGHTS project

i. It is assisted by World Bank with 162 $ million.
ii. The project is to strengthen social protection system for old age people.
iii. =~ The project is implemented in Tamil Nadu.
a.i b. ii c.1,ii d. i, i, iii e. Answer not known
RIGHTS &L @fsHs Haupmer gnBpisamend SHemil s

1. @5 2 05 umEWTed 165 Wevedwier Lmeo] HFwsel oleflssii@Gd SHiLb
. b HULD (WpHCWTHEBSTOT Fepd UTHISTIL DiewOlenL aUeIlILIBSHIHISBSI

. @b FHLLD SHOWPBTL g0 CFweoLGSHSLILBGSMBSHI
a.i b. ii c.i, ii d. i, ii, iii
112.  Ganga river flowing states

I. Jammu and Kashmir
1. Uttarakhand
V. Jharkhand

I. Uttarpradesh
IV. Bihar
VI. West Bengal
a. L IL I,V b. I, 111, IV, V
d. All the above e. Answer not known
SHIMS B LITULD LOMH6ORISET 6T6n6u?
[. ;b wBBID STORST II. o samniyGsabd
IV. danit V. sgnitdbasemi
a. L IL I,V b.IL, 11, IV, V
d. @me SimeansaHIb e. alewL OFfwailsdensv
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e. alewL OFHFlwealedenev

c. IL III, IV, V, VI

III. o Hzysmew
VI. GuBe eumsd
c. IL III, IV, V, VI
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113.

114.

115.

116.

117.

Which is the largest tributary of Indus River?

a. Sutlej b. Ravi c. Jhelum
d. Chenab e. Answer not known

fbal BpHUler e Hemomer Hlenewt LBl 61517

a. Fleom b. grel C. 236uib
d. Qe e. alenL Gxfwealsvemnso

Choose correct pairs

i. Sundaradevan - MSME sector

ii. SECURE Software - MNREGS

iii. e-MATHI - Self Help Groups

a. only 1 pair b. 2 pairs c. 3 pairs
d. None of these e. Answer not known

Fflwmer Benenidenensd &6l 15d

1. &baHyCHeuel - MSME  gienm

ii. SECURE GueaiQummet - MNREGS

iii. e - g (MATHI) - GW o SHaldh GDDHBH6I

a. 1 @emewiol BLb b. 2 ®memasein C. 3 Benanisbei
d. egielevenev e. alenL G flwealsdensv

Choose incorrect pairs

i. TNSUDP - World Bank

ii. TNUFIP - Asian Development Bank

iii. TEAP - World Bank

iv. ETRP - Asian Development Bank

a. 1 pair b. 2 pairs c. 3 pairs
d. 4 pairs e. Answer not known

SHOUBTET EeHENIHMENTS  HEWIL 15185

i. TNSUDP - © V& GUEIE

ii. TNUFIP - o Fwl euenyFS eumig

iii. TEAP - 2 & GUHI

iv. ETRP - o Fw euenjFF eumig

a. 1 SDemenisei b. 2 @meaunsei C. 3 ©enewIH6l
d. 4 Benewicmei e. alewL OFflwalevenev

A farmer has a field in the shape of a rhombus. The perimeter of the field is 400m and one
of its diagonal is 120m. He wants to divide the field into two equal parts to grow two
different types of vegetables. Find the area of the field.

a. 9600 m? b. 6900 m? c. 4800 m?

d. 3600 m? e. Answer not known

aleugmul @meu] FTUIFSHT UgaleUTal HevHheddH MEUSBIGTONT]. DbdH HevdHler gmmene] 4005
BB BT QU pemevall LHHler ene] 1205 ou@b. By OeusiGeuml  euenSBWITET
sTsPsemen LUlflL  Sleu] Heudwd B FouGdHsemmal Lflsapry eaefled Sbsd P
BlevH e LTLIenLId HTeulsb.

a. 9600 w2 b. 6900 152 c. 4800 152

d. 3600 152 e. alowL Gafuialsvamen

If + stands for X, - stands for +, x stands for - and + stands for + there 25 +32-4x12+3

a. 137 b. -125 c. 191 d.-197 e. Answer not known

+ ai@ug X, - eleiUgh F, X GIUG — B@mID F oeeiugk + @BidadTed 25 + 32 -4 x 12 + 3
STGTLIG]

a. 137 b.-125 c. 191 d.-197 e. alowL Gz fuialsamen
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118.

119.

120.

121.

122.

Find the sum of 98 + 103 + .... + 213

a. 50265 b. 52065 c. 55062
d. 56025 e. Answer not known

amBHe0 sTewis 9+ 103+ ... + 213

a. 50265 b. 52065 c. 55062
d. 56025 e. alowL Gafuiealsvamen

1
The total surface area of a cylinder whose radius is 3 of its height is

2 2
zh sq. units b. 8

sq. units

2
c. 24 7h? sq. units d. 567N

sq. units

e. Answer not known
@R 2 ([HWemuilel SIID SIHET © WFSHH60 cPSNsled (h LUMIEG elefled, GOTHS LByl

zh? , 87h? .
5 FHIT DIVESH6I b. 5 FHIT DIVEBH6IT
2
c. 247h° g7 SwEoGSs d. 56;z'h FHIT DICVES &6

e. alewL Oz flwealsdenso

In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each successive
row contains two additional seats than its front row. How many seats are there in the last
row?

a. b6 b. 78 c. 86 d. 108 e. Answer not known

Q@ el SmSer (WPHeo eauflmgullsd 20 AHEHMBHEHD OLOTHHWD 30 auflengFHEHd 2 6iere.

SbHSBHS @albeurh auflenFuiad SIFBG WHmSW aflmFowal.  BTewih  EHHMBHH6I
FBHVTEH o elenerl. HMLF auflenguied e1HHMN EHBMBH6N B(HBGLW?

a. 56 b. 78 c. 86 d. 108 e. alewL Oxflwaisoensv

Choose the correct statements

L. The Gerosappa falls made by the Sharavati river is the most famous waterfall of
India

II. Sharavati is a river which originates and flows entirely within the state of Karnataka

a. I only b. IT only c. BothIand I

d. None of these e. Answer not known

gilwner gmBpiIseend CaHiTe CFUls

L. AgUmTeUd HHWTEL o (heurdslIul L Omysiur BrelpdFd SnbdHwraler wWseab LiFusowomet
BTaipFFuIm@GLp.

II. agrTeud) B (PSS (PSS HTHTLS OMHHHe0 o BLUSHWTS UTUISBSI.

a.l w’@Gw b. II w (b c. ] wpp II

d. gaidevensv e. alowL GaMuialsdemev

Which of the following is not correctly matched?

a. Jaduguda - Uranium b. Raichur - Gold c. Panna - Diamond
d. Hazaribagh - Monazite e. Answer not known

Leteu(meuaiouBmled 61ghl SHeummall GUTHSHHUILL (BHeTerng?

a. heLT — wCrefwid b. QruiF@T - SEISD C. LGH&IT — 6meUJLD
d. ememilurs - GurerengL e. alewL Gaflualsdenso
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123.

124.

125.

126.

127.

Assertion (A): Government of India launched Mission Vatsalya on April 1, 2021.
Reason (R): India is Home to over 472 million children.

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. Both (A) and (R) are true and (R) is not the correct explanation of (A)

c. (A) is false, (R) is true

d. (A) is true, (R) is false

e. Answer not known

aBp (A):  SbHu os Waged amsFeown SHLHms glyed 1,2021 S@m OSTLRSWS!.
smyewd (R): @bdwr, 472 Wsvelwer Gwbmsseier SmULiLLOTs 2 6Tengi

a. Awppib R @rewigd afl Goad R, A elBg sfluner alendson@d

b. A B R @rewigd f eyemed R, A alBg Fflwner efendasoeoe

c. A sam , R g

d. A #f, R sam

e. alewL OFFfwaledsnev

Choose correct statement regarding CMRDP

i. It is a road development scheme of Government of Tamil Nadu.

ii. CMRDP is announced in 2021.

iii. =~ Road of 8900 km of length to be newly developed in next 5 years.

a.i b. 1, ii c.1,1ii d. all of the above e. Answer not known
CMRDP QgrLjumer HlWmeT SnBBicsemen el sls

1. @ sOLETE Spdear Fremev GCLUT. (B S LLOTEGLWD

ii. CMRDP 2021 — 60 9opfaldbsiiulL g

iii. oI5 5 uwihHefled, 8900 &S Senailevrer FmTemeusHsl GWLIGSSLILILL 2 6166
a.i b. 1, ii c. i, iii

d. GuBseni. DHRIHHID e. alwL OFfwalsoensy

The TX2 goal is related to

a. Tiger b. Lion c. Gangetic Dolphin
d. One horned rhinoceres e. answer not known

TX2 @evdEg aH@IL &1 QHTLTLenL WG ?

a. 4ed b. fmisib C. BEINS LmeoLlaor

d. obops Ty STasimi®msD €. ol FHfwalsvemnsv

Who among the following Mughal emperors, after his recovery from illness, wore pearl
earing as a token of thanks to the Sufi Saint Khwaja Moin-ud-din Chisti?
a. Humayun b. Akbar c. Jahangir

d. Shah Jahan e. Answer not known

Spdbeewi  (pHeomwil  CuprsTseled Heigd o Leplensv  Gomasomer  @hplensoulsd  BmHbHH
e Curgl, @&. .11 srpel @Geurmm Oruie-2g&-GHler-del.  DeuTEEndh@ Heom  OFeuHSHID
AlBHTES (PHMSH STHWIWLTS SjewllalldHeuT wimr?

a. QnSLoMU6sT b. eisuir C. SQQBTRIST

d. egrmames e. alewL OaMNuwalsenew

The Maratha claim of revenue for protection is called:

a. Sardeshmukhi b. Chauth c. Jama
d. Abwab e. Answer not known
grhHw Srdled urgHsTILBETe auhHeuTul Camildbensuier LT
a. gMBxaypd b. Gzens C. oo
d. sl e. alewL Gafuwalsdenso
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128.

129.

130.

131.

132.

Choose incorrect pairs

i. World Tamil Sangam - 1986

ii. International Institute of Tamil Studies - 1970

iii. =~ Central Institute of Indian Languages - Mysore

iv. Central Institute of Classical Tamil - Chennai

a. 2 pairs b. 3 pairs c. 4 pairs
d. None of the above e. Answer not known

SHOUBTET  BNTHEN6NTSH  &H6uoTL b

1. 2 608 SO gmsd - 1986

ii. 2 v& HOPTITUIFS Bnleued - 1970

iil. @bsHw Curhseier wWHHW BBIOIRID - DG

1v. QFbewmf SWpTuie| WHHW HBeUIDd - OFeaTenet

a. 2 @emewiol (HLd b. 3 @memasai C. 4 BneNIB6IT
d. GuBsemiL  sgHieLlle0em60 e. aleowL QFflwalsoensv

Consider the following statement regarding TNSMART.

i. It is a webportal related to e-Governance.

ii. It is developed by TneGA.

iii. =~ TNSMART is developed with World Bank Funding Assistance.
a. 1, ii are incorrect b. i, ii are correct C. 1, iii are correct
d. all are correct e. Answer not known

TNSMART @niss Lemeumd saBupibmen oLuis

1. @z Wetaam SLEhend OQHTLIUTET QhH EeN6TLSHeNOTELD.

ii. 83 TheGA auted 2 (HAUTHBLILILL G

iii. TNSMART o s amduiea B& o sHalumed o (heurdsliulL g

a.i, il seupl b.i, ii &f c. i, iii &
d. smaisab Fi e. alewL Qflwaisdenev

Who amongst the following established “Diwan-e-amirkohi” during Delhi sultanate?

a. Alauddin Khilji b. Feroz Tughlaq c. Mohd bin Tughlaq

d. Iltutmish e. Answer not known

Leteumeueioupmler, GLevel gisogpmellesr wmmmenLw o fuler  Gurgl  “Heuren-B-liTOsmans”
Boeulu’ L g)?

a. SUTe P Hleved b. QuGymerd ZHidberns C. (p&ogl ST SHidbend

d. Sevziad e. alewL Gafuwealsvemnsv

Silver 'Tanka' and Copper 'Jital' were introduced by

a. Qutubuddin Aibek b. Raziya Sultana c. [ltutmish

d. Balban e. Answer not known

Geueiteflufled “Lmism” wBEILD STHFSHH “eIlL6d” 616IB  HTEILBISMET  SHIBI(WSILBSHSHUIeT
wimfr?

a. GHUSST WS b. gdwr seogmeo C. Bevzidad

d. umedLesT e. alenL Gafuwealsdemso

Industrial estates in Tamil Nadu are developed by

a. SIPCOT b. TANSI c. TANSIDCO
d. TIDCO e. Answer not known

SODPHTL 96D QHTHBELIL emL 6T D60 DIMLDSHSLILIBE STB6T.

a. SIPCOT b. TANSI c. TANSIDCO
d. TIDCO e. alewL OFHfuwalevenev
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133.

134.

135.

136.

137.

138.

Public Library Act was enacted in Tamil Nadu during as education minister.

a. Rajaji b. T.S. Avinashilingam c. Rukmani Laxmipathy
d. Aranganayagam e. Answer not known
He0a] SIMWFFITS AHBGHD CuTdH SHODBT 1960 CUTH HTevs FLULID SUIBBLILLL
a. @ymemred b. T.S. seleamdflednisd C. (Hébemil 6vl GHOLI)
d. spmsmBTWESID e. alewL OFfwalevenev

Which of the following systems were the backbones of the Vijaynagar administration?
Nitinirdesha and Dandniti

Karyapalika and Nayankara

Nayankara and Ayagar

Dandniti and Spy system

Answer not known

@TU(HLD 61hG SIMLDLILH6T60 aIQQUIBST BITOUTHSHH T (LPHICBHIDLIH6T  B(HbSH6 !
H&H BBID HeWLenerl GHTeTmS

BifeuTs QFmelTensd LOBHBILD HTULBISIT

BTWRISTT LOBHDILD SLUISDT (Lpenis

SHEWIL M OBTeTenS LOBMID 26116 SHienLOLIL]

alenL  OFfwailsvenev

PN T PP N TR

Which of the following sources indicate that the last Mauryan ruler Brihadratha was
assassinated by Pushyamitra?
a. Inscriptions b. Gargi Samhita c. Puranas

d. Harshacharita e. Answer not known

Qwerflw  Guppdlesr  sLd o fwmengrdl  UHABSHTHSHET 6Tl  LauIOSIT  6T6iILIGUJT60
UBOsTme0 CEFWIWNILLLTT eleiums Llaeubld 6bhd USTTSHH6 cLpevld DISILI(LIY&leTsaI?

a. &600l6uL (Has6iT b. sniid gwansm C. LJT6mlaigselt

d. emrgsisbd e. alewL Gafuwalsdenso

Where have the remains of a highly advanced water management system of Indus valley
civilization been discovered?
a. Kalibangan b. Lothal c. Ropar

d. Dholavira e. Answer not known

fbg  Fwleued  mraflashdear  GobulL BT GweoTewiento  SIMOLILNGT  6IFFHIHET  6IHIG
ST (HLNGHBLILIL L 6017

a. STeMLIMBIGH6ST b. Beurgev c. Gymu

d. Qzmenaiym e. alewL Gxfwalsdenso

Directorate of Non-Formal and Adult education was created in Tamil Nadu in

a. 1976 b. 1977 c. 1978 d. 1980 e. Answer not known

uelerl FMgm WLBBIL W uBCHTT Heval BUISGSGHIHLD SOWDHTLIQE © (HeUTSHSLILLL  HL6wI{H
a. 1976 b. 1977 c. 1978 d. 1980 e. alwL OFfuielevensv

Choose incorrect pairs

i. [llam Thedi Kalvi - 27.10.2021

ii. Ennum Ezhuthum - 13.06.2021

iii. Nan Mudhalvan - 01.03.2022

iv. School of Excellence - 05.09.2022

a. 1 pair b. 2 pairs c. 3 pairs

d. 4 pairs e. Answer not known
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139.

140.

141.

142.

143.

SHOUBTET  BeNITHEN6NTSH  SH6uTL 3.

1. @eveuld Blg Heva - 27.10.2021

1. eTemTEmID 6T(LSHHILD - 13.06.2021

11i. [BIE (LH&H606NesT - 01.03.2022

V. HM&BFTe0 LslTelga - 05.09.2022

a. 1 ®enewr b. 2 @Smemasai C. 3 ©enenIb6l
d. 4 Senewisei e. alewL OFfwalevenev

Which of the following statement is incorrect about the position of women during the age
of Buddha?

The position of women generally deteriorated

There were several instances of child marriages

Polygamy was gradually growing among the ruling classes
Education was denied to women

Answer not known

QTRUHLD 61hd DPHMB LdHDHT &HTev OLeniseler Blenew GBS I Heummerg?
CurgiuTasGa Cuemiaeilar Henew GTFMLbHBHII.

GWHMS BB BSIDESET LI [BLHSHE.

OB uTbSSHI e, Gl LIOSTT Lo6wID UQLILIQUITS 6UeTIhHE UbHSHI.
QueNTBEHHG Heval LOBIGSIILIL LS.

alenL  OFfwailsvenev

PN TPLD N TR

Which one of the statement is incorrect regarding the Guptas?

a. Coins depicts the figures of Chandragupta and Kumara devi
b. Harisena was one of the important officers of Chandragupta

c. Samudragupta inscription found in Ashoka Pillar at Allahabad
d. Inscription from Iran reveals the information of Samudragupta
e. Answer not known

GUSTHmeT LUBBIL gEBnISeilsd Heupmer eumhSuwD 6gh?
BrenwTmIselled FhATSGUST GLIICHa] o (hHeumiseT STewlLbGSBSI
anfGgeany FhHAHTSGLUSTT (pHHW DIeVIGUT SLEUTT

FWPSHHT GLSMNeT H600UL(H DlVETUTSH DIBFTHT HTewl H60OEUL Q6D SHTRILILIBHBSI.
FITesr &6Vl (B FWSHHTSGLIHMT LB OFHfalsbaama.

allewL  OFflwealedensv

canoe

Find the Award instituted by Tamil Nadu Government in 2021 for encouring young writers
less than 18 years of old.

a. Ilanthendral Award b. llam Pillai Award c. Kavimani Award

d. Thensittu Award e. Answer not known

18 auwGHISGLULL B6ND 61(SHSTNTHEHESETS SUODPBHTH DIFFTed 2021-60 Hipeull L al(hgl,
a. QeaboFHemed all(Ha b. SembLleiTenen al(mal c. salweni allmal

d. Cxadl B almal e. alewL OFHfuwalevenev

Tamil Nadu Higher education department was created in

a. 1991 b. 1997 c. 1999 d. 2001 e. Answer not known
SODHTH 2 Wisevald SHeNm 2 (HeuThSUIUL L Sei[H,
a. 1991 b. 1997 c. 1999 d. 2001 e. aleowL OFflwalsoensv

What is the correct chronology of the following events of Akbar’s reign?
L. Conquest of Malwa
I1. Abolition of pilgrim tax
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144.

145.

146.

147.

III.  Promulgation of Din-I-Ilahi
IV.  Construction of Ibadat Khana at Fatehpur sikri

a. I IV, I b.1I, I, IV, III c. Il IV, I, 11
d. IV, I II, III e. Answer not known

eiteupld Haaseied SiGUTEH o Fuller gflwmer eufleng 6157

I LomeTeuT  Gleums)

II. wrgMaTseien euflenul @LdsHe0

III. SHaiT-3-Bevmanslenl  LNHL el ILIGSHHIH60

IV.  uwBsuir Héfuled SUTsHsETerensl [HTLOT6NS5H60

a. L II, 1V, III b. 11, I, IV, III c I IV, I I
d IV, L1, III e. alewL Gafuwalsdenso

When a Bill is reserved by the Governor for the consideration of the President, within what
time he must return the Bill?
a. Three months b. Six months c. One year

d. There is no time limit e. Answer not known

GRWISS HMeval] D@ILS LB  SLEHHITD @HIHDH  meusELLLL  WEFTHTEHS6T 616116166
&TVHHMBGeT HHULl g GeuewiBd?

a. 3 LTHMIGEN b. &um wrHmIH6T C. QUH SLewI(H

d. eI L sTeub Bevenev e. alenL Gafwealsdenso

Choose incorrect pairs
i Tamil Nadu Science and Technology Centre - 1983
ii. Science City, Chennai - 1988

iii. Tamil Nadu State Council for Science and Technical Education - 1984
iv.  Tamil Nadu Council for Higher Education - 1994
a. 1 pair b. 2 pairs c. 3 pairs
d. None of the above e. Answer not known

SHOUBTET BeNMIHENENTSH  &H6uoTL_NSlb

1. sODBETH Spfelwsd wBEIdD CHTHOHIL L ewwb - 1983

ii. &flealuied BaILD, OFeitensr — 1988

iii. HWOWPBETG wIHe Sflalwed WBBID CHTHBH] SyenewIuId - 1984
iv. SOPETG 2 wifseoal Suenewid - 1994

a. 1 @emewiol (BLd b. 2 @meaumsei C. 3 ©enewIH6l

d. GuBEei  6&iele0mev e. alewL OFHfwalevenev

SIRPI scheme is implemented by __

a. Education Department b. Police Department c. Social Welfare Department
d. Revenue Department e. Answer not known

fm (SIRPI) S sews OFweoLBHIBID SHiens,

a. sevalsdh Hlenym b. smaid FHiedm C. FPdD HeVS HIeNDB

d. aumeurus giemm e. alenL OQgflwealsdensv

The state of Jammu and Kashmir was made an Union territory of India with effect from:

a. 26'h January , 2019 b. 5t august ,2019 c. 15th September ,2019

d. 31st October, 2019 e. Answer not known

o — STeAbT wrpeod eIGUTEH welwer FCsawrs wrBBLIULG Bl (PeBLILIGSHSLILIL L GI?
a. 26 mavteurdl, 2019 b. 5 symerv® 2019 c. 15 Qaubur 2019

d. 31 &sGLmuir 2019 e. alewL Gxfualsdenso
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148.

149.

150.

151.

152.

153.

The concept of separation of powers was given by:

a. Montesquieu b. Machiavelli c. Edmund burke
d. Samuel P. Huntigton e. Answer not known

SIFHEMHmBL LMeHHe0 Camump wmmenLuwig?

a. LorewiGLervaluy, b. wrEdweaisved C. GILLOGWIL LIT&
d. gmuBsusd P. amewgmi et e. alenL Gafwealsvemnso

Which one of the following was the First state to establish the Institution of the Lokayukta
in India?

a. Bihar b. Maharashtra c. Rajasthan

d. Odisha e. Answer not known

@bdHwraled Geord uibHTmel Bpelwl (LpFHeL LOTHVD 61517

a. st b. wamgTadigrid C. BITeerdSTe
d. quar e. alewL OxMuwalsdensv

Choose correct statement regarding TNUAVC.

i. TNUAVC - Tamil Nadu Unmanned Aerial Vehicle Corporation.

ii. Inaugrated on 25.01.2022

iii. ~ Established by Higher Education Ministry in Partnership with Anna University.
a.i,ii b. 1, ii c.1alone d. all of these e. Answer not known
TNUAVC @pfss sfluner saBpisamend el 5s.

1. SODETH ieflebeoT euTaiTouUlll 6UTHETS SHLOSHLD

ii. 25.01.2022 SIIB OHTLMRISLILLL &l

iii. 2aruITH606] SHIMOFFHHSHTEL DIWIGWIT LIGOHMEVBBLOBHHIL 0T DenenlbdHl Bmleuli L gl
a.i, ii b. i, ii .1 @W

d. Gupseati. gmarsaid e el Ggfluwelsiemso

Tamil Nadu Government Planned to bring _ of Fallow land into Agricultural land in
next 10 years.

a. 11.75 lakh acres b. 12.75 lakh hectares c. 11.75 lakh hectares

d. 12.75 lakh acres e. Answer not known

SIbHH 10 eurpLmIS6T60, oleme] Hfla Hleomisemen eafleudTul Heolonsd LOTHB  SHLOWDHTH
SI& HLLLOL (BHeTengl.

a. 11. 75 @l s oo b. 12.75 eu' s Gami GLj c. 11.75 @el g QamsBLi

d. 12. 75 B F gHsT e. alewL OFHfwalevenev

Which of the following committee voiced concern about ‘Criminalization of Politics and
politicization of Criminals?

a. Tarakunde committee b. Sachar Committee c. Vohra committee

d. Indrajeet Gupta Committee = e. Answer not known

elteud 6hdd G “‘@mmeutefiseier Srdlued wiomssed” LBy SLITuihsHs!?

a. FHMTGewiCL @& w b. g&ant @ c. Gaumgm &

d. @bards GUST G e. alenL Gafwealsdemso

Which of the following are matters on which the Parliament has power to modify
provisions of the Constitution by the simple majority?

1. Alternation of names, boundaries and areas of states

2. Appointment of Additional Judges

3. Abolition of second chamber of state Legislature

4. Administration of scheduled Areas
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154.

155.

156.

157.

Select the correct answer using the codes given below:

a.1,2and 3 b.1,2 and 4 c. All of these

d.1,3and 4 e. Answer not known

Le3TeU(HeUGITEUBMIST  [BTLTEHLOGTBHSHT FTHTT6NT  OILIHLOUTETEMIONILIY  DIFFUIe0MLONILTe  sTeuBenBs

PG5S WHub?

1. oTHlevmiIsemeT OLWITHET, 6T606N6VH6T LOBMILD LGS H6Med omBBL CsTemt(Hel(heudbl

2. &BHOV HHUSHB6T HUIoeTd

3. MHeL FLLIDGIBSHHL ST TaUFH SIENeUMULIS HEMEVHIH60

4. ulwede UGdsefer MBiTeuTsLd

SpHHMILauBsledlhhak Ffluwmer ugHlmevsd BCHiThoHBHBLD

a. 1,2 wmpib 3 b. 1, 2 wmpib 4 C. GuBanpi SlemeaTHSHID
d. 1, 3 wBpib 4 e. alewL Gapfwealsdenso

In Tamil Nadu, importance to digital agriculture is given in .

a. First Agriculture Budget b. Second Agricultural Budget
c.Bothaand b d. Tamil Nadu Budget 2021-22
e. Answer not known

SLODBTL 1960 Wleieniem Gouenmemientod@ 6IIGUTHI (PSS Heud SO L g7
a. Wpzpev Ceuenmewt HiGHHemew DINSl&HmB

b. @yewimeug Geuenmemt HHBemev il

c.a wBph b

d. 202122 e ewnget HOWHTE BHEHBMeL DPfldams

e. alemL OFflwailsoenev

Choose correct statement regarding 2021-22
i. The share of Tamil Nadu in India’s GDP is 8.4 %.

ii. In India’s total expert, the contribution of Tamil Nadu is 9.22%.
a.1ialone b. ii alone c. Bothi & ii
d. Neither i nor ii e. Answer not known

2021 — 22 b SpewienL LI QUT(HhSHSHI FFWTeT SmBBISeN6eNd HewILNlsH

i. @pFHwralear GDP ufed sOpmHT 196 Lkig 8.4% SuEGID.

ii. @bHwrelen OCwrss gBmiosluled, SOWBTE 9.22% URIS6SHS B

a.i wl @ b.ii wl @Gw C.i woBmb i ByewiBd
d. ®yewiBLosedev e. alewL OFHflwalevenev

A girl is twice as old as her younger sister. Five years hence, the product of their ages (in
years) will be 375. Find the present age of younger sister.

a.10 b.8 c.5 d. 4 e. Answer not known

Qm Ouewienienr euwgd Sougd  FCasmaflulear  auwemsll  Gumev  EAMBLMIG UGD.  DWHSI
amibBEndGL Ut  Qmeufler  eauwgiseller  GuUmEBBLUVST 375 elefled, FCHTHFBH6r60
Shmasular sHBELTMSW ULIMSHDH SHT6IsH.

a.10 b.8 c.5 d. 4 e. alowL Gzfuialsamen

A woman bought some eggs at the rate of 4 eggs for Rs.18 and sold them at the rate of 5
eggs for Rs.24. She gained Rs.90 in selling all the eggs. How many eggs did she buy?

a. 200 b. 250 c. 300 d. 375 e. Answer not known

QH Ouewt 4 (WL edL&mem ¢h.18 aipld eummid 5 (pLenLdenel h.24 aigld alBSIBTeT. euTmISIWL
SIMAHSH  (PLOLSmeNUD  alIBBHed SleueT 590 & SeoruoTsll  CUBMBTET  6Tele0, SIGUET
QUMTRISIW  (LPLewL_H6ilell elewtenilbend sl6ial6T6)]?

a. 200 b. 250 c. 300 d. 375 e. alowL Ozfuialsoamen
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158.

159.

160.

161.

162.

163.

4Y3NC&9BLP*D=1TM@2E#7$%VFGD5 In the above sequence which of the
following will be exactly in the middle between 9 and $?

a.= b. 1 c.D d.M e. Answer not known

GuwBe o siten GxpTLMed 9 wHED $ a@B o BIsERsE& Bl Cuw slums BEal aIEHD
o MmN HTEwIS.

a.= b. 1 c.D d M e. alewL Gapfwalsdenso

A hemi spherical bowl of radius 30cm is filled with soap paste. If this paste is made into
cylindrical soap cakes each of diameter 10cm and height 2cm how many cakes do we get?
a. 90 b. 360 c.720 d. 180 e. Answer not known

30 QF15 sweiten s Camem  eugen GULI  Gamiys  gwmpmed  BFlulul Geengl.  DbS
Gamiysd amp Gamewih 10 QF.5 allL@pd 2 GF.15 o wgup OHTIL o (Hemem ealgeu GFTliLd
BL19H6IT a1HHenet Glguiweomd?

a. 90 b. 360 c.720 d. 180 e. alewL Gapfwalsdenso
Find the HCF of E,E,E,Z,gand i
246 810 12
a. 1 b. i C. i d. i e. Answer not known
2 10 120 120
%,%,%,%,E LOBBILD %-66‘[ 15.0uT.6u-em6u  Bewi(BLily
a. 1 b. L C. 9 d. .y e. alewL Oxfuwaledenso
2 10 120 120

Which of the following Act introduced bi-Cameral Legislature at the central level in India?
a. Indian council Act 1909 b. The Government of India Act 1919

c. The Government of India Act 1935  d. The Indian independence Act 1947

e. Answer not known

SLpdhHeniLauBmleT @hFHwTaled WwHHW FFener OCETNIL FLLIGBHMS DB(PWSILGSHSHUI FLL LD
o1xl?

a. @pHw seyerdled gL 1909 b. @bHw ows FLD 1919

C. @b os FLLID 1935 d. @bdw alBsHemev FULID 1947

e. alewL O flwealsvenso

Hindi in Devanagari script is the official language of the Union according to which Article
in the Indian Constitution?

a. Article 342 b. Article 351 c. Article 343

d. Article 344 e. Answer not known

Cxpouptafl e1(WdHal augaleveen @b Gomfl ebg sl Ufleleaiy @bHu g Gombuwrs
2 o6iengl?

a. sl L0fley 342 b. & Lifley 351 c. L L10fley 343

d. sl L0fley 344 e. alewL Gafualsdenso

Consider the following statements.

i. Project STAR is related to registration department of Tamil Nadu.

ii. Project STAR was implemented in 2000.

a.ialone is correct b. ii alone is correct c. Both are correct
d. Both are wrong e. Answer not known

LetTeu(hlD SnBmIsHemen LU1H
i. eoLmy (STAR) &b sOppTh UHahaHenBUil 6T GBI JLENL WIS.
1. 6oLy SliL 2000 b opemih OFwWeOLIGSSUILLL S
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164.

165.

166.

167.

a.i w’ G & b.ii w G & C. @yawiG &
d. 8yewi Heum e. alenL Qgflwealsdensv

Choose correct statement regarding Directorate of Public Health and Preventive Medicine?

i. It is responsible for teritary Health Care in Tamil Nadu.

ii. It was started in 1923.

iii. Also associated with Prevention of Food Adulteration.

a. i, ii b. ii, iii c. i, 1i, iii
d. ii alone e. Answer not known

Qurg FaTaTy B CHTU $BUY BusssD GNHS FHLTET FnBBIsamend el H.
1. SODBTLIQED CPSTBTLD Hlenew HHTHTT Coemeudemen eUPRIGL QUTBILMLS CETemIBeTengl.
ii. 8& 1923 b LEWIH OHTLRISLILILL F

iil. % o ewieyd HeolIlUL g SHUTNID OHTLTLEML WG

a.i,ii b. ii, iii c. 1,1, iil

d.ii @G e. alewL OFHfwalevenev

Under which article of the Indian constitution the supreme court has original jurisdiction to
deal with any dispute between the centre and the state, the centre and a state on the one
side and another state on the other or between two or more states?

a. Article 131 b. Article 132 c. Article 133

d. Article 134 e. Answer not known

@b spFwevenolied o FFpFlwapd  HardGs o Ml BHHeugbiled  wHHW  oBEID
rBlevdHHed BenL B o eiten  LIJFFemenser, LLHSHUl LOBEID WIHWD @ UGHWIID DIbHS
UGSHuled 2 wHevld Slevevdl DSBS GBulL rpleol LgFFamersel Hidbd o 6en o @I
61&1?

a. elgl 131 b. al& 132 c. alg 133

d. elg 134 e. alewL GaMwaledenso

When can the parliament in India make a law on a matter enumerated in the ‘state list’?

a. When a joint sitting of Parliament passes a resolution to that effect.

b. When the Lok Sabha by a 2/3rds majority of members present and voting passes a
resolution saying that it is necessary or expedient in the national interest

c. When both the Lok Sabha and the Rajya Sabha separately passes a resolution that is
necessary and expedient in the national interest.

d. When the Rajya Sabha passes a resolution supported by not less than two-thirds of the
members present and voting that such legislation is in the national interest.

e. Answer not known

OMHlev UL g0 @GBISHs FLLMISM6T LMITEhoesd eiiGuTgd SuwBs (Wigu b,

a. UMJmEbSIBHHT gl Bhanl L CHTLMeD 1hSHs SHTOTEIMIST HL (PenBEEG 6U(HLLELITS.

b. Gevrdaumeler o minlerm eawienidmas 2/3 GuT eaumemasUlbhe DTSN D  uTH6BHIIL
BLSSULLB. SiF SHFHwmeudlwiors (Sievevd) Cadlw (psalwdSsiad aumuibsHTes S mUILler.

c. Gxpdw (WEHwsHHUD amuipbd  Copmeudsd  Geomdsur  wB@mID  gTRRWESUT  @Femi(BLD
FHaigHHelwns Sromeid HenpGeaummpliup Curg)

d. grgwesur @sHEmplLs STotarsamd 2/3 URGHS Dimeudbd ammaLfhs BUTHeler epeold
Cxpdlw (WeFwHHaID UTUIHS HEHD6DHESH DD SHH60.

e. alowL Gaflwealedenso

Directorte of Public Health and preventive medicine deals with

i. RCH, Communicable deceases, Immunization.

ii. Registration of birth.

iii. ~ Industrial Hygiene and Health

iv. ~ COVID-19

a.i, ii b. ii, iv c. 1,11, iii, iv d. iii, iv e. Answer not known

40 | Page PH: 044 - 24339436, 42867555, 9840226187




168.

169.

170.

171.

Qurgl &ty BB CHTUI HBUY BuisbssHH 6IFWeOLITHBHE.

i. RCH, Osmp Grrul sl Buidssdhder OFuwieounBae,

1. Ypiy ugley

iil. Qxmhedwedamy - meolIGU

iv. Gsmall - 19

a.i ii b. ii, iv c. i, 1i, iii, iv d. iii, iv e. alemL QHflwealsdensv

Consider the following statements

1. Tamil Nadu road network is 2076 km for 1000 km?2.

ii. India road network is 1890 km for 1000 km?2.

a. i alone is correct b. ii alone is correct c. Both are correct
d. Both are wrong e. Answer not known

LeiTeu(hlD SnBmISHemeT LU1H.

1. SODBTL 96T FTenev auedeuweniolil] 1000 gy &b, &@ 2076 S Q@D

ii. @pbHwnaler grenev euemeowsnolil] 1000 Fg iy &S, && 1890 &S G

a.1 w' G & b.ii w G & C. @yewi &1

d. 8w Heuml e. alewL OFHflwelsvenev

The Supreme Court held, that forcing a person to undergo polygraph, brain mapping and
narco analysis tests, as violative of

a. Article 25 b. Article 20 c. Article 21 and Article 20(3)

d. Article 360 e. Answer not known

o FFHIHIOGBD, @ aldmy uredalgm..l, cpewen  Gulnim wopmid  BEITCHET  LGLUTUIe)
Gangpamensel QFUIL SULTWILGSSIMSG. Laeubd 6hd arHmsd LpeudsTs FnBpIdSng?

a. agsHg 25 b. egrHsI 20 C. aidal 21 wHDID 7SS 20(3)

d. egrsHa 360 e. alewL O fwealsdenew

The Right to Constitutional remedies guaranteed under Article 32 of the Constitution of
India is available to

a. People of India.

b. Only Indian Citizens.

c. All natural persons, citizens and non-citizens.

d. All Indian Citizens and foreign ambassadors.

e. Answer not known
OhHw fwevemoliier agrHal 32, DFweoenoli] SHireydsater o fenwenuwl LoD WnhdbE
CUIDHIG B BIHI?

a. @bFHw LdHsHei

b. @b GHWYLSHEHDHEG WL BID

C. SIMAHH BUIeoL| BUTH6T, GHIQOSHFH6T LOBBID GQLOSHEH6T SHIeVEVTGHTT.
d. omasa BhHuU GYwsHser WBBID CeuelBTl G HTHTH6

e. alewL Gafwealsvensv

Which one of the following is a bulwark of personal freedom?

a. Quo Warranto b. Mandamus c. Habeas corpus
d. Certiorari e. Answer not known

‘sallpuT FHHATSSE e eaILGaS 6157

a. HGHHWmB ailere|He0 b. &L Lenen C. S QmewriT
d. speuem Gal Ly e. alowL GaMuwealsvemev
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172.

173.

174.

175.

Choose correct pair.

i. NH in Tamil Nadu - 6666 km

ii. TNRDC - 1998

iii. ~ TNRIDC - 2005

iv.  Tamil Nadu Maritime Board - 1997

a. 1 pair b. 2 pairs c. 3 pairs d.4 pairs  e. Answer not known

Fflwrer Benentenuid SHewTL s
1. OB I9ed Cxhdlw @[_B(B@&HGU)GD 6666 IS

ii. TNRDC 1998

iii. TRIDC - 2005

1v. SODETG SL60FmT eumfluid - 1997

a. 1 Senewr b. 2 @emewiseil C. 3 Benewime6l
d. 4 @ewemiser e. alewL QFflwalsoensv

Tamil Nadu Policy for persons with Differently Abled is released in

a. 1992 b. 1994 c. 1996 d. 2006 e. Answer not known
LTBEBISSHBeTelseEndsTar CaTarmadmul SODBTH DIF Oeuefull L oewilH
a. 1992 b. 1994 c. 1996 d. 2006 e. alewL OFHflwalsdensv

Which one of the following statement is correct?

a. To amend the Constitution under Article - 368, two thirds majority of the total
membership of both the houses of the parliament is required.

b. No person shall be prosecuted and punished for the same offence more than once

c. The total number of ministers, excluding the Prime Minister, in the Council of Ministers
of India shall not exceed fifteen percent of total membership of the Lok Sabha.

d. None of the above

e. Answer not known

Uetteu(phld Snpmiseied Ffluimen eeiml e1gh?

a. gUHad 3686 S SFwevemiolienll  HHSHHIAUSHBEG BTLTEHLOGIBHIH G EH  Dleneuderiled
Qureds o miiiearmseis cpamled @Feni(h LMIG OumbuTaiemn Ghemel.

b. Gr,rjr)g, 9 BUT 1BHID, @ GBMBSHIBG amIcsG OCuBulL (s 6aupdE OHTLILILL (B
BHENQBHBLILIL Fnl_TH).

C. @phHu mwEFFTmaud Gualsd, LITHweny HalToHa OTHs DIWDEFSFTHeN6ET 6T60T16m015HND,
Qs Geordgur o miiieaimsefler  eeaueamidmaulsd UHmabd FHaBHBHHHBE Gosd
B HHBH Sl TGl

d. GuBsemi arHiaD Be0enev.

e. alewL Gafwealsvenso

Match list - I with list - 11

List -1 List - 1I

(Schedules of the constitution)  (provisions)

A. Eighth Schedule 1. Allocation of seats in the Rajya Sabha to the
states and the Union territories

B. Fifth Schedule 2. Languages recognized by the constitution

C. Seventh Schedule 3. Forms of oaths or affirmation

D. Fourth Schedule 4. Division of powers between the union and
the states

5. Provisions relating to the administration and control of
scheduled areas and scheduled tribes
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176.

177.

A
3
3
2

W Ul U1 g

C
4
5
4
1

SRS
v

2
e. Answer not known

ulwed I o uluwed I eear QUImSE Spsdsemi Guluihseaiey sFilwmams BHHOHH

Ul guied I Ul guied II
(OIFFWevemDLILIGT S L 616060T) (QFweOLITHH6IT)
A. alLTougl S L elenemnt 1. MBlev BmIDd upeiwer LIFGsHamick e omen
grwIsUT @)L miselel eHHSMH.
B. mbameus oI Leuenent 2. SIHleveniolILmed SDIBISHMHBLILLL QLTS 6NT
C. guwmags S L alenemnt 3. 2 mg Guomd & ugselliiyimerd
D. preismeug oI L eueneut 4. WHFW LBBID THL HIFESEHEESG SenL Cuiwimer OISy
u&lTe)

5. uluiedL LUl L UGS ST oBmID ULDHIGIQU 6T

UG sellen HiTeuTsd CHTLTUTET gRUTBHS6IT

A B C D
a. 3 5 4 1
b. 3 4 5 1
C. 2 5 4 1
d. 2 3 1 4
e. alewL G flwealsbenso

Consider the following statement.

1. M-TIPB is reconstituted as FaMe TN.

ii. M-TIPB was established in 2019.

a. i alone is correct b. ii alone is correct c. Both are correct
d. Both are wrong e. Answer not known

LeiTeu(hlD SnBmISemeT HU1H.

i. M-TIPB gyemg FaMe TN a6t omipilwieniods sl (Heieng)

ii. M-TIPB, 2019 &b sewih mmieuliul L gl

a.i wl @ g b.ii w G & C. @yewi(Bd &

d. 8y Heum e. alew OFHfwalevenev

Consider the following statement.

i. TANSIM is branded as StartupTN.

ii. TANSEED is part of TANSIM.

iii. TN SC/ST Start-up fund is also part of TANSIM.

a. ii, iii are correct b. i, ii correct c. All are correct
d. All are wrong e. Answer not known

LNeeU(HLD SnBBIBemen LIS

i. TANSIM syenig Startup TN eredip eflembuliiGssLiLiGaBa.

ii. TANSEED syeng TANSIM - @er @@h u@dHwum@id

iii.  sOLETE Ul uwelars8sTr/upkiGiguiear  Semmigupn  BHHud  TANSIM
UGSHWITGSLD.

a. ii, iii &1 b.i, ii & C. SMGHHID Il
d. smasaId Haupl e. alewL OFfwalevenev
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178.

179.

180.

181.

The official name of GST Bill is:

a. The Constitution (121t Amendment) Bill, 2014
b. The Constitution (1215t Amendment) Bill, 2015
c. The Constitution (122"d Amendment) Bill, 2014
d. The Constitution (122"d Amendment) Bill, 2016
e. Answer not known

GST wBgnmraler edHsmyliyTen Gy
afwevenioli] (1216ugl Hmdbs ) wWGasTsHT, 2014
sfwevenioliy] (1216ug Hmbs ) wWGaTsHT, 2015
Sipdlwevenioli] (1226ug FHpss) wWGFTHT, 2014
Sipdlwevenioli] (1226ug FHbhss) wWGFTHT, 2016
allewL  OFflweaiedensv

oo o

Union Government’s ‘PAHAL’ Scheme is related to:

a. LPG subsidy transfer in consumer’s account.

b. Toilets construction in schools

c. Promoting girls education

d. Ensuring health facilities to senior citizens

e. Answer not known

wHHW SFThasHer ‘Utassd” (PAHAL) Sl asai 6 OSTLLmL WS
a. LPG wreflwb vwermefseier eumidlobsamis@d@ LOTHBLD
b. ueitefsefled SPIN BiB6T &L HH6D

C. Quemigbhamssaiea Heval (WeTGaBmLD

d. wHs GYLEBEHEBTET GHTHT MFHMUW 2 mIF CFuIH
e. alewL Gxflwealedenso

Which statement depict the best definition of sustainable development?

a. It means optimal utilisation of natural resource

b. Sustainable use and natural resource without considering the need of the future
generation

c. Present generation fulfils it’s needs while considers the need of future generation as
well

d. None of the above

e. Answer not known

Bemeowimer euenj&Hullesr Fmpbs euenTwenpen! alend@Gd euTHSWID 6187

a. BQUBMS LRGN 2 FHbHFH (WenBUNed LILIGTLBHSHSBIHTGLD.

b. eadismen smeowamsBuilsr Chrmealmul SHHHHeL OCBTeTenTosd, SuIBend eleThiseler  Hmen
Hleneowimer LILeTLIT(H.

c. sBluTmHL SmeowensB DB CoHemeusmen LTHE OFuujd 6% GCeuemenuled ergliTemTen
ghapHularnilear Chmeuamuiuid HHHHBOSTTISI

d. GuBampwemal 6Eiee06me0

e. alewL G flwailsenso

Tamil Nadu CM Fellowship program is implemented by

a. Bharathidasan Instituted of Management b. Higher education department
c. Bharathidasan University d. Bharathiyar University

e. Answer not known

SOPETE (pHevemw&sflen LssTuled HLsms _ CFwLBSSHISBSI.

a. umygHFrgen Geomewientd Heoall [BlMIeI6wILD b. 2 wiy sevaldh Hiems

C. UMIFHHTF LIG0HMEVDH HLPSHLD d. utgpHwiny LEVBMEVD BIPBLID

e. alewL OFflwalsvenev
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182.

183.

184.

185.

186.

Between 2000 April - 2021 March, Tamil Nadu attracted FDI worth

a. 31 bn USD b. 31 mn USD c. 34.5 mn USD

d. 34.5 bn USD e. Answer not known

gliyed 2000 (pgHev wmiTF 2021 euewy, HOWHTEH FTHHleTen DHBHW GFeomeuenil (WHeOL 196 LI,
a. 31 Mevelwelr ©GIoMdbad LTevJ b. 31 Wevelwer SGWMN&BS LTevJ

c. 34.5 fevedlwer SOWfeE LTeo d. 345 Wevelwesr SGIWMeBES LTevJ

e. alewL OFFflwaledenev

Disinvestment of the public sector enterprises took place because of:

a. Capacity unutilisation b. Low profitability

c. Increased burden of subsidy d. All of the above

e. Answer not known

CUTEHISSHIMB HBICUATHISET60 LTI 6085 560 HTTWIOTS BLIHSHI.
a. HBm&I LWeTUBSHST Hlenev b. @omBhs eoTUID

c. wralwsHar 1BsHTer oFaMNsHs gomw  d. GG o_silen HMmeaiHEID
e. alewL Oaflwelsenso

Treasury bills are _____ instruments of the central government.

a. Long term credit b. Very long term credit c. Short term credit
d. Medium term credit e. Answer not known

&(HEY,EVLIEVHET DSHFHW SITSFTRISSDHT IHBHTET S([HoHETTEGHLD?

a. HEWIL &MV &L 6ol b. s WL &mev HL 6o C. GBIFW BTV &L 6o

d. phSHSIH HT6L SL6H e. alewL GaMwaledensv

Choose correct pair

i Mega Food Park - Thindivanam

ii. E-Vehicle Park - Manallur

iii. =~ Leather Park - Panapakkam

iv.  Future Mobility Park - Shoolagiri

V. Medicine Park - Oragadam

a. 2 pairs b. 3 pairs c. 4 pairs d.5 pairs  e. Answer not known

Fflwmen Senewtdemend 6w i5ld
1 WTEUHD o e ll LLBIST - HemTgeleild

ii. E-eunsen ymism - LDGUOTGUIT(]

iii. Gxmed LmIsT - LTINS LD

iv. 06T GUTEHET LRIST - Genalfl

V. WO(BHSB LBIST - QU&LLD

a. 2 Benenismein b. 3 @emewiamein C. 4 BemewIH6l
d. 5 Semewimei e. alewL OFHfuwalevenev

Which of the following measures to control inflation are taken by RBI?

a. Instructs banks to reduce interest rate on lending  b. Purchases bonds from public
c. Reduces SLR d. Raises CRR

e. Answer not known

ueniaidbsHma & BLLGSS Llaemd HLalgsbmameley g RBI oue0 ehssliubGang?
a. HLOIGFHTON QL RAIHHNSH GHMBHD URIFHEHDHE 6I6WNBISHFH60

b. Qurgl WwEHMLIOmHS LSHTHIBEMET GUTEIEH6

c. SLR & @&opsHaHe0

d. CRR & o wisgisHeo

e. alenL Oz flwalsvenso
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187.

188.

189.

190.

191.

192.

Lorenz curve is a technique to examine which of the following issues related to economic
growth?

a. Inequality in Education b. Inequality of wealth distribution

c. Environmental Sustainability d. Land distribution

e. Answer not known

QuTmEMTHTY euenT&FAWL T OFHTLT LW eTeuhd FobHevHeille0 eTHemen SLU1e] OFUIWl  60TT6sTerd
AUMENT®Y G(H (LPHEBW HILLIDTGLD?

a. sevaluied FLofletento b. GgeveuidTallsd Floufleento

C. GHBDBIFGHD60 [HM60HHEIHLD d. Beoriuditey

e. alemL Gz flwailsenso

Which among the following is the maximum pursued occupation in India?

a. Trade b. Craft occupation c. Agriculture
d. Mining e. Answer not known

UesTeu(meuateuBmie 61g @bHwmaled iFHawr@arti GFuiujb QFHTHe0?

a. eumenilsLd b. seweols QuITHL HeiT C. Geuenmeniiento
d. symisid e. alewL OxMNweailsoenev

Which of the following is not the role of NITI Aayog?

(i) Act as a think tank.

(ii) Power to impose policies on states.

(iif) Funds allocation

a.ionly b.1iand ii c.ii and iii
d.iand iii e. Answer not known

SHeWILeuBmled eTemel HE-CuITeSleir Lenil Ee0en60?

(i) om osCeungmer @(QeuTd GFWLICOLIBISI.

(ii) wPevkisefled HLL Fsemen Henlb@G OFLIOHBET.

(iii) B @mibeEG

a. i’ (B b. i o@uub ii c. ii opmb iii
d. i wmpnb iii e. alew Gapfwealsdensy

Which tax is the different one?

a. Wealth Tax b. Income Tax c. Corporate Tax
d. Stamp duty e. Answer not known

SLpdbaHemiLeuBplled LompiLL L eufl 6187

a. Ggeveu eurfl b. eugpome eur c. Mmieuer eurfl
d. wsHeys Hrer eu e. alew OHfwaledenew

Pradhan Mantri Krishi Sinchayee Yojana was launched on

a. 2 October 2019 b. 10 June 2015 c. 14 March 2019
d. 1 July 2015 e. Answer not known

Wrso whHN &flad Heargmul Gumegenm OFHTLMISILLL  [HT6T

a. 91B6LmuT 2, 2019 b. sgeai1 10, 2015 C. omtg 14, 2019
d. egeemev 1, 2015 e. alewL Gafuwalsdenso

The Reserve Bank of India launched its medium-term strategy framework, namely
“Utkarsh 2022" in .

a. April 2019 b. July 2019 c. October 2019

d. March 2019 e. Answer not known
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193.

194.

195.

‘o Saitas  2022°  eeliuBlh  @hHw el amdular BESHSI BT 2 HF Bl Ll
GeueMuiL_ I’ L g
a. glged 2019 b. sgemev 2019 c. oBGLTUT 2019

d. g 2019 e. alenL Gafuwealsvenso

Match the following:
Food Security Programmes year of start
A. Antyodaya Anna Yojana 1. 2002-03
B. Nutritional Programme for Adolescent Girls 2.2001
C. Emergency Feeding Programme 3.2000
D. Village Grain Bank Scheme 4.2004

A B C D
a. 3 1 4
b. 3 1 2
C. 4 1 2
d 3 2 4
e. Answer not known

QUT(HSHHIS:
® 6Wia| LTHISMIIL H L Mise6l OaTLmIBLIULL o600

SIHFHCWTHWLT Siesienr Guimegeotm 1. 2002 — 03
auenflend CQueNTEEHHBTE 261 | FFHHIH S L LD 2001
SDIUFTHT6V 2_6T6YHHIL L LD 2000
SITo Srelw eumidld &L Lb 2004
A B C D

a 3 1 4
b 3 1 2
C. 4 1 2
d 4
e.

— W kDN

oON=p
v

— W RN

3 2
alenL  OFfluiaisdensv

Consider the following statements related to the Growth of population in underdeveloped
nations:

1. Low savings due to high level consumption expenditure

2. It destroys the natural resources

3. It stimulate greater productivity and savings

Select the correct answers by using the codes:

a.1only b. 2 only c.land 2

d.2and 3 e. Answer not known

Uetsmigul BrhEefed STelILGL WHH6T 0HTmdL LHEDSD GHNHH HHHHIHMET HeUTHSH 60
OsmeiTemeLD

1. 9138 BISTOEF OFeveuted CFUILILY GHMBSHBSHI.

2. Bumbma euemmiseT Sifihg CUTGL SlealBg UWRLBGSSLILBGSBSI.

3. 938 2 BuUSHHH SHper BB CFlenU 2aEHEGalbSHBSI.

GPuibhsmenl LWETUGBSS Fhlwmer allenl  SHTeu.

a.1 wl @B b. 2 w’ G c. 1 By 2

d. 2 wBpb 3 e. alemL O flwailsvensv

Which committee is related to industrial licensing?

a. Visweshwaraiah Committee  b. Narasimham Committee
c. Hazari Committee d. Dutt Committee

e. Answer not known
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196.

197.

198.

199.

200.

CamiBgieny o Mob CHTLTuTET G 61%?
a. aflerdGeueroguiwm @ b. mydlibon Gug c. amanfl &
d. 5% 6w e. alewL Gapfwalsdenso

The simple interest on a certain sum of money for 2 %2 years at 12% per annum is Rs. 40 less
than the simple interest on the same sum for 3 %2 years at 10% per annum. Find the sum.

a. 450 b. 600 c. 700 d. 800 e. Answer not known

QM GPUILL OFTewsdd eumLaly 12%  eaanbBurad 2 % aupLiHed Sl db@ld
saflau guimendl 8% OHTenddhE eaumLaIllp 10% eeidBurgdl 3 Y2 aumpLiHHed Bl GG Heol
allgenwl el h. 40 GHome] 6afled ObHFH OFHTenS 6Teieu6T6?

a. 450 b. 600 c. 700 d. 800 e. alowL GaMuwelsdemsv

A, B and C can do a work in 12, 24 and 8 days respectively. They all work for one day. Then
C leaves the group. In how many days will A and B complete the rest of the work?

a. 6 days b. 8 days c.12 days

d. 24 days e. Answer not known

A, B, C eewj @wm Geumevenw wpedmBu 12, 24, 8 mHIL&6eMed (WPQLILITTH6T, GLDeLpau(HLD
Gaiba @b mreT BGeuemev Gawigpery. et C ealevd alGdBr sefed, A, B @meurmd WHpsiten
Gouemevemw! (PI9Hs G HTLH6T 615HFHEN60?

a. 6 B se b. 8 Bt aeit c. 12 mr e

d. 24 B sei e. alewL O fwalsdensv

If the difference between 75% of a number and 60% of the same number is 82.5, then find
20%of the number.

a. 80 b. 100 c. 110 d. 150 e. Answer not known

QT crewienias 75% @ I8z eevieniar 60% BHGL Sl CuiweTen alldHwngd 82.5 eeiev,
OlbhL elewienflent 20% 36 SHTEWIS.

a. 80 b. 100 c. 110 d. 150 e. alewL OxpMwaledenso

In an examination, a student scores 3 marks for every correct answer and loses one mark
for every wrong answer. If he answers 80 questions in all and gets 160 marks find the
number of questions he answered wrongly?

a. 20 b. 40 c. 60 d. 10 e. Answer not known

@ CaieuT eeleurm gflwmer alemLd@b 3 WwHUCUeE CUBISBTT. SHeupTer alenL wefdHHTeo 1
AL BpsHamrT. 80 alameseEndd almLweishsd BsieuT 160 WHIGLHT QUBISBTT 6refled
ST Houpts alewLwelshs ealemobseier eeuenllbend 616Te6m?

a. 20 b. 40 c. 60 d. 10 e. alew QFflwaledenev

An integer is chosen from the first twenty natural numbers. What is the probability that it
is a prime number?

! b. Z C. i d.

R e. Answer not known
2 5 20

a

gl -

(LPFH6L B\mHUG Bulev R ERIEWNGEGES Qb ) 6T6u0T FLoGUTUILIL (pemBUT6D
CaHTHOBBHESILGHBH. DIHDH 616w Q(H LIST 6lewreniid EQHULSBETRN HHDSHEHalenerd HTewsH.
1 2 9 1

b. - c. — d. - e. alewL OFflwalevenev

a. —
2 ) 20 5
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MODEL EXAMINATION
GENERAL STUDIES

Duration : Three Hours Total Marks : 300

Read the following instructions carefully before you begin to answer the questions.

10.

11.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

This question booklet contains 200 questions. Before answering the questions, you are requested to check
whether all the questions are printed serially and ensure that there are no blank pages in the question booklet.
If any defect is noticed in the question booklet, it shall be reported to the invigilator within the first 10
minutes and get it replaced with a complete question booklet. If the defect is reported after the
commencement of the examination, it will not be replaced.

Answer all the questions. All the questions carry equal marks.

You must write your register number in the space provided on the top right side of this page. Do not write
anything else on the question booklet.

An answer sheet will be supplied to you separately by the room invigilator to shade the answers. Instructions
regarding filling of answers etc., which are to be followed mandatorily, are provided in the answer sheet and
in the memorandum of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the answer
sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the question
booklet number, your answer sheet will be invalidated.

Each question comprises of five responses (answers): i.e. (A), (B), (C), (D) and (E). You have to select ONLY
ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet. If you feel that
there are more than one correct answer, shade the one which you consider the best. If you do not know the
answer, you have to mandatorily shade (E). In any case, choose ONLY ONE answer for each question. If you
shade more than one answer for a question, it will be treated as a wrong answer even if one of the given
answers happens to be correct.

You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination. After
the examination, you must hand over your answer sheet to the invigilator. You are allowed to take the
question booklet with you only after the examination is over.

You should not make any marking in the question booklet except in the sheets before the last page of the
question booklet, which can be used for rough work. This should be strictly adhered to.

In all matters, the English version is final.

Failure to comply with any of the above instructions will render you liable for such action as the Commission
may decide at their discretion.
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